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�D54<E?>6<5 

1. $47D45>F4=O: 

1.1. � $545D4?L=>< 7>EG44DEF65==>< 5N465F=>< GGD5645=<< «$545D4?L=O= 

=4GG=>->?<=<G5E><= F5=FD E?>DF<6=>= <54<F<=O < D545<?<F4F<< $545D4?L=>7> 

<54<>>-5<>?>7<G5E>>7> 475=FEF64» ($��' $��&%� $��� $>EE<<): 

�<D5>F>D 3 >4=4. <54. =4G> �>?<=E><= �.�. 

�4<5EF<F5?L 4<D5>F>D4 ?> =4GG=>= D45>F5 3 4-D. <54. =4G>, ?D>D5EE>D 

�4D4EF456 %.�. 

�4G4?L=<> >D74=<74F<>==>-<EE?54>64F5?LE>>7> >F45?4 3 >4=4. <54. =4G> 

$5M5=>> �.%.  

1.2. � �>EG44DEF65==>< 46F>=><=>< GGD5645=<< 74D46>>ED4=5=<O 7>D>44 

�>E>6O «�>E>>6E><= =4GG=>-?D4>F<G5E><= F5=FD <54<F<=E>>= D545<?<F4F<<, 

6>EEF4=>6<F5?L=>= < E?>DF<6=>= <54<F<=O <<5=< %.�. %?4E>>G>>F>>7> 

�5?4DF4<5=F4 74D46>>ED4=5=<O 7>D>44 �>E>6O» (�?<=<>4 E?>DF<6=>= <54<F<=O), 

D<?<4? 7 1 (D<?<4? 7 1 ��'� ���& �$�%� <<. %.�. %?4E>>G>>F>>7> ���): 

�4654GNM<= D<?<4?>< 7 1 ��'� ���& �$�%� <<. %.�. %?4E>>G>>F>>7> 

��� (�?<=<>4 E?>DF<6=>= <54<F<=O), 654GM<= =4GG=O= E>FDG4=<> >F45?4 =4GG=>-

<EE?54>64F5?LE><E GE?G7 $��' $��&%� $��� $>EE<< 3 G?5= >>DD. $��, 4-D. <54. 

=4G>, ?D>D5EE>D �44F<564 �.�. 

2. �E?>?=<F5?<: 

2.1. �F $��' $��&%� $��� $>EE<<: 

6D4G ?> ?5G55=>= D<7>G?LFGD5 >F45?5=<O D545<?<F4F<>==>-

6>EEF4=>6<F5?L=>7> ?5G5=<O $��' $��&%� $��� $>EE<< 3 �4D<47<= �.�., 

6D4G ?> E?>DF<6=>= <54<F<=5 >F45?4 <54<F<=E>>7> >55E?5G5=<O E?>DF<6=OE 

E5>D=OE >><4=4 < E>D56=>64=<= $��' $��&%� $��� $>EE<< 3 &4D4E>64 �.%. 

2.2. �F D<?<4?4 71 ��'� ���& �$�%� <<. %.�. %?4E>>G>>F>>7> ���: 

>4D4<>?>7 D<?<4?4 7 1 ��'� ���& �$�%� <<. %.�. %?4E>>G>>F>>7> ��� 

(�?<=<>4 E?>DF<6=>= <54<F<=O), 654GM<= =4GG=O= E>FDG4=<> >F45?4 =4GG=>-

<EE?54>64F5?LE><E GE?G7 $��' $��&%� $��� $>EE<< 3 4-D. <54. =4G>, ?D>D5EE>D 

,4DO><= �.%. 
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3. � =4EF>OM<E <5F>4<G5E><E D5>><5=44F<OE D54?<7>64=O FD55>64=<O 

$545D4?L=OE 74>>=>6 $>EE<=E>>= $545D4F<<: 

- $545D4?L=O= 74>>= >F 21 =>O5DO 2011 7>44 7 323-$� «�5 >E=>64E >ED4=O 

74>D>6LO 7D4644= 6 $>EE<=E>>= $545D4F<<»; 

- $545D4?L=O= 74>>= >F 4 45>45DO 2007 7>44 7 329-$� «� D<7<G5E>>= >G?LFGD5 

< E?>DF5 6 $>EE<=E>>= $545D4F<<»; 

- $545D4?L=O= 74>>= >F 05.12.2017 7 373-$� «� 6=5E5=<< <7<5=5=<= 6 

$545D4?L=O= 74>>= «� D<7<G5E>>= >G?LFGD5 < E?>DF5 6 $>EE<=E>>= $545D4F<<» < 

$545D4?L=O= 74>>= «�5 >E=>64E >ED4=O 74>D>6LO 7D4644= 6 $>EE<=E>>= $545D4F<<» 

?> 6>?D>E4< <54<>>-5<>?>7<G5E>>7> >55E?5G5=<O E?>DFE<5=>6 E?>DF<6=OE E5>D=OE 

>><4=4 $>EE<=E>>= $545D4F<< < E?>DF<6=OE E5>D=OE >><4=4 EG5N5>F>6 $>EE<=E>>= 

$545D4F<<». 

4. 'F65D645=O 'G5=O< E>65F>< $545D4?L=>7> 7>EG44DEF65==>7>  

5N465F=>7> GGD5645=<O «$545D4?L=O= =4GG=>->?<=<G5E><= F5=FD  

E?>DF<6=>= <54<F<=O < D545<?<F4F<< $545D4?L=>7> <54<>>-5<>?>7<G5E>>7> 

475=FEF64» (?D>F>>>? >F 31 >>FO5DO 2024 7>44 7 53). 

5. �6545=O 6?5D6O5. 
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�6545=<5 

 

�4=OF<O E?>DF>< E>?DO65=O E ?>6OL5==O<< D<7<G5E><<< =47DG7>4<<. �?O 

?>445D64=<O 6>7<>6=>EF< 6O45D6<64FL F4>>5 446?5=<5 =5>5E>4<<4 6O=>E?<6>EFL 

4OE4F5?L=>= E<EF5<O. � F5< 5>?55 F4>4O 6O=>E?<6>EFL >G5=L 646=4 4?O 

6>EEF4=>6?5=<O ?>E?5 >EFDOE D5E?<D4F>D=OE 6<DGE=OE 745>?564=<=, COVID-19 < 

6>E?4?5=<O ?57><E, >>744 E6>5 6>76D4M5=<5 6 E?>DF<6=O= EFD>= 5>?LL<=EF6> 

E?>DFE<5=>6 ??4=<DG5F 6 >D4FG4=L<5 ED>><. � =4EF>OM55 6D5<O >4=<< <7 E4<OE 

?5DE?5>F<6=OE =4?D46?5=<= 6 D545<?<F4F<< E?>DFE<5=>6, ?5D5=5EL<E 6<DGE=O5 

?=56<>=<<, O6?O5FEO ?D<<5=5=<5 E>G5F4==OE 7<?5D>4?=<G5E><E/7<?>>E<G5E><E 

FD5=<D>6>>. �D< ?D<<5=5=<< 7<?5D>4?=<G5E>>7> < 7<?>>E<G5E>>7> EF<<G?>6 

G?GGL45FEO 65=F<?OF<O ?57><E, 6>7D4EF45F 6<7=5==4O 5<>>EFL ?57><E, D4EF5F 

>>?<G5EF6> 4?L65>?, G>D5??O5FEO 4OE4F5?L=4O <GE>G?4FGD4, G>D5??O5FEO E5D45G=>-

E>EG4<EF4O E<EF5<4, GF> >E>55==> 4>FG4?L=> 4?O =5E>65DL5==>?5F=<E E?>DFE<5=>6. 

�> 44==O< E>6D5<5==OE ?<F5D4FGD=OE <EF>G=<>>6, E?GG4< FO65?>= ?=56<>=<<, 

D5E?<D4F>D=>7> 4<EFD5EE-E<=4D><4 6 ?54<4FD<G5E>>= ?D4>F<>5 D57<EFD<DGNFEO 6 

?N5>< 6>7D4EF5, < 6 F>< G<E?5 G 45F5=, 4>F<6=> 74=<<4NM<EEO E?>DF><. �D< 

ED46=<F5?L=>< 4=4?<75 E<<?F><4F<><, F5G5=<O < ED>>>6 6>EEF4=>6?5=<O 7=4G<<>= 

D47=<FO 6 >?<=<G5E><E ?D>O6?5=<OE < F5<?4E D57D5EE4 4OE4F5?L=>= 4<EDG=>F<< G 

45F5= < G 67D>E?OE =5 6OO6?5=> [1]. �5FO<, >4> ?D46<?>, E6>=EF65==> <5=55 FO65?>5 

F5G5=<5 745>?564=<O, >4=4>> EF5?5=L 6OD465==>EF< DG=>F<>=4?L=OE =4DGL5=<= < 

4>?7>ED>G=O5 D57G?LF4FO 6>EEF4=>6?5=<O D5E?<D4F>D=>= E<EF5<O >5EG644NFEO. 

'EF4=>6?5=>, GF> G5D57 3 <5EOF4 ?>E?5 ?5D5=5E5==>= 6<DGE=>= <=D5>F<< ?D>O6?5=<O 

?>D465=<O 4OE4F5?L=>= E<EF5<O E>ED4=ONFEO ?D<<5D=> G 30 % ?4F<5=F>6. �4?<G<5 

EF>=>>= E<<?F><4F<>< 6>E?4?<F5?L=>7> 75=574 ?D54?>?4745F =5>5E>4<<>EFL 

E6>56D5<5==>7> ?D<<5=5=<O 445>64F=>7> ?> ?4F>75=5F<G5E>>= =4?D46?5==>EF< 

MDD5>F<6=>7> >><??5>E4 >>DD<7<DGNM<E <5D>?D<OF<=. �>FG4?<74F<O ?D>5?5<4F<>< 

6 >>=F<=75=F5 E?>DFE<5=>6 45FE>>7> < ?>4D>EF>>6>7> 6>7D4EF4 >5GE?>6?5=4 6OE>>>= 

64D<4F<6=>EFLN ?>>474F5?5= >4D4<>64E>G?OD=>= < 5D>=E>?57>G=>= E<EF5< 6 E>45 

75F5D>ED>=<< >=F>75=574 E ?5D<>44<< <=F5=E<6=>7> D>EF4. � >E>5GN D>?L 6 
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?>6OL5=<< D57G?LF4F<6=>EF< D545<?<F4F<>==OE < 6>EEF4=>6<F5?L=OE <5D>?D<OF<= 

G N=OE E?>DFE<5=>6, ?5D5=5EL<E 6<DGE=O5 ?=56<>=<< D47?<G=>7> 75=574, 

?D<>5D5F45F D<7<>?>7<G5E>< >D<5=F<D>64==O= >><??5>E E>G5F4==OE 6>745=EF6<= 

7<?5D>4?=<G5E><<< < 7<?>>E<G5E><<< EF<<G?4<< E <E?>?L7>64=<5< 

<>4<D<F<DG5<OE ?> E>EF46G 747>6OE E<5E5=.  

� 44==OE <5F>4<G5E><E D5>><5=44F<OE ?>4D>5=> >E65M5=O >5>E=>64=<5 < 

<5F>4>?>7<O ?D<<5=5=<O 7<?5D>4?=<G5E><E/7<?>>E<G5E><E E<5E5= 6 D545<?<F4F<< 

E?>DFE<5=>6 E?>DF<6=OE E5>D=OE >><4=4 $>EE<=E>>= $545D4F<<, 6 F>< G<E?5 

=5E>65DL5==>?5F=<E, ?5D5=5EL<E 6<DGE=O5 ?=56<>=<<. 
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2. �>D<4F<6=O5 EEO?>< 

 

�4EF>OM<= 4>>G<5=F D47D45>F4= =4 >E=>64=<< D5>><5=44F<= < FD55>64=<=, 

E?54GNM<E =>D<4F<6=OE ?D46>6OE 4>F>6 < =>D<4F<6=OE 4>>G<5=F>6. 

$545D4?L=O= 74>>= >F 4 45>45DO 2007 7>44 7 329-$� «� D<7<G5E>>= >G?LFGD5 

< E?>DF5 6 $>EE<=E>>= $545D4F<<». 

$545D4?L=O= 74>>= >F 21 =>O5DO 2011 7>44 7 323-$� «�5 >E=>64E >ED4=O 

74>D>6LO 7D4644= 6 $>EE<=E>>= $545D4F<<». 

$545D4?L=O= 74>>= >F 05.12.2017 7 373-$� «� 6=5E5=<< <7<5=5=<= 6 

$545D4?L=O= 74>>= "� D<7<G5E>>= >G?LFGD5 < E?>DF5 6 $>EE<=E>>= $545D4F<<" < 

$545D4?L=O= 74>>= "�5 >E=>64E >ED4=O 74>D>6LO 7D4644= 6 $>EE<=E>>= $545D4F<<" 

?> 6>?D>E4< <54<>>-5<>?>7<G5E>>7> >55E?5G5=<O E?>DFE<5=>6 E?>DF<6=OE E5>D=OE 

>><4=4 $>EE<=E>>= $545D4F<< < E?>DF<6=OE E5>D=OE >><4=4 EG5N5>F>6 $>EE<=E>>= 

$545D4F<<». 

�D<>47 �<=74D464 $>EE<< >F 23.10.2020 N 1144= «�5 GF65D645=<< ?>DO4>4 

>D74=<74F<< >>474=<O <54<F<=E>>= ?><>M< ?<F4<, 74=<<4NM<<EO D<7<G5E>>= 

>G?LFGD>= < E?>DF>< (6 F>< G<E?5 ?D< ?>47>F>6>5 < ?D>6545=<< D<7>G?LFGD=OE 

<5D>?D<OF<= < E?>DF<6=OE <5D>?D<OF<=), 6>?NG4O ?>DO4>> <54<F<=E>>7> >E<>FD4 

?<F, 65?4NM<E ?D>=F< E?>DF<6=GN ?>47>F>6>G, 74=<<4FLEO D<7<G5E>>= >G?LFGD>= < 

E?>DF>< 6 >D74=<74F<OE < (<?<) 6O?>?=<FL =>D<4F<6O <E?OF4=<= (F5EF>6) 

�E5D>EE<=E>>7> D<7>G?LFGD=>-E?>DF<6=>7> >><??5>E4 "�>F>6 > FDG4G < >5>D>=5" 

(�&�)" < D>D< <54<F<=E><E 74>?NG5=<= > 4>?GE>5 > GG4EF<N 6 D<7>G?LFGD=OE < 

E?>DF<6=OE <5D>?D<OF<OE» (�4D57<EFD<D>64=> 6 �<=NEF5 $>EE<< 03.12.2020 N 

61238). 

�D<>47 $545D4?L=>7> <54<>>-5<>?>7<G5E>>7> 475=FEF64 >F 8 E5=FO5DO 2023 

7>44 7 178 «�5 GF65D645=<< ?>DO4>4 >D74=<74F<< <54<>>-5<>?>7<G5E>>7> 

>55E?5G5=<O E?>DFE<5=>6 E?>DF<6=OE E5>D=OE >><4=4 $>EE<=E>>= $545D4F<<». 

$5>><5=44F<< $ $��� $>EE<< 1-2023 >F 28.06.2023 7. «�>DO4>> D47D45>F><, 

<7?>65=<O, ?D54EF46?5=<O =4 E>7?4E>64=<5 < GF65D645=<5 =>D<4F<6=OE < 

<5F>4<G5E><E 4>>G<5=F>6, D47D454FO645<OE =4GG=O<< >D74=<74F<O<< ?> 74>47G 
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$��� $>EE<<, 6 �><<EE<N $545D4?L=>7> <54<>>-5<>?>7<G5E>>7> 475=FEF64 ?> 

D4EE<>FD5=<N =>D<4F<6=OE < <5F>4<G5E><E 4>>G<5=F>6, D47D45>F4==OE ?D< 

6O?>?=5=<< =4GG=>-<EE?54>64F5?LE><E < >?OF=>->>=EFDG>F>DE><E D45>F, 

>EGM5EF6?5=<< =4GG=>-F5E=<G5E>>= < <==>64F<>==>= 45OF5?L=>EF<». 
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3. &5D<<=O < >?D545?5=<O, E>>D4M5=<O 

 

3.1. �?D545?5=<O 

� =4EF>OM5< 4>>G<5=F5 ?D<<5=ONFEO E?54GNM<5 >?D545?5=<O 

>>D>=46<DGE=>= <=D5>F<<: 

COVID-19 3 =>64O >>D>=46<DGE=4O <=D5>F<O, 6O7O645<4O >>D>=46<DGE>< 

SARS-CoV-2; 

SARS-CoV-2 3 >>D>=46<DGE, 6O7O64NM<= COVID-19 (Severe Acute Respiratory 

Syndrome-related Coronavirus-2); 

�>EF>>6<4=O= E<=4D>< 3 E>EF>O=<5, >?D545?O5<>5 E>6>>G?=>EFLN 

E<<?F><>6, >>F>DO5 ?>O6?ONFEO <?< E>ED4=ONFEO ?>E?5 6O74>D>6?5=<O >F COVID-

19 < >5OG=> 4?OFEO >F =5E>>?L><E =545?L 4> <5EOF56. 

 

3.2. %>>D4M5=<O 

�� 3 �DF5D<4?L=>5 446?5=<5 

�&$ 3 �45=>7<=FD<D>ED>D=4O ><E?>F4 

��% 3 �>76D4M5=<5 6 E?>DF 

�'� 3 �OE>>4O GEF>=G<6>EFL > 7<?>>E<< 

�-� 3 �5?>MD7><5FD<O 

�& 3 �<?>>E<G5E><= F5EF 

��� 3 �<4EF>?<G5E>>5 4DF5D<4?L=>5 446?5=<5 

��� 3 �>?>?=<F5?L=>5 <5DF6>5 ?D>EFD4=EF6>  

�� 3 �OE4F5?L=4O =54>EF4F>G=>EFL 

�� 3 �OE4F5?L=O5 ?GF< 

�& 3 �OE4F5?L=O= F5=FD 

��� 3 �<7=5==4O 5<>>EFL ?57><E 

��& 3 �=45>E <4EEO F5?4 

�& 3 �><?LNF5D=4O F><>7D4D<O 

�$� 3 �D54F<=D>ED>><=474 

��$� 3 �D54F<=D>ED>><=474 �� 
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�-�$%-�2 3 �D<F5D<= MDD5>F<6=>EF< >4D4<>D5E?<D4F>D=>= E<EF5<O  

��& 3 �<>D>6>?LF=4O 4?LF5D=4F<O 7G5F4 T 

�$& 3 �47=<F=>-D57>=4=E=4O F><>7D4D<O 

��� 3 �<6=OO 7D4=<F4 =>D<O 

��$� 3 �5<5?>>>?5F>G=O= D4> ?57>>7> 

�'� 3 �<7>4O GEF>=G<6>EFL > 7<?>>E<< 

�2 3 �<E?>D>4 

��� 3 �5M4O 5<>>EFL ?57><E 

�$�� 3 �EFD4O D5E?<D4F>D=4O 6<DGE=4O <=D5>F<O 

�$�1 3 �5NU<4 6>74GE4, 6O4OE45<>7> 6 F5G5=<5 ?5D6>= E5>G=4O 

D>DE<D>64==>7> 6O4>E4 

��% 3 �>EF>>6<4=O= E<=4D>< 

�&$ 3 �>?<<5D47=4O F5?=4O D54>F<O 

%�� 3 %<EF>?<G5E>>5 4DF5D<4?L=>5 446?5=<5 

%'� 3 %D54=OO GEF>=G<6>EFL > 7<?>>E<< 

&$% 3 &GD5G?5=F=>EFL D<F<4 E5D4F4 

'�� 3 '?LFD476G>>6>5 <EE?54>64=<5 

'�� 3 '7?G5?5==>5 <54<F<=E>>5 >5E?54>64=<5 

'&% 3 'G55=>-FD5=<D>6>G=O5 E5>DO 

$��� 3 $>DE<D>64==4O 6<7=5==4O U<>>EFL ?57><E 

%� 3 %>?F5D>6E>>5 <>=<F>D<D>64=<5 

%��� 3 %D>=<G5E>4O >5EFDG>F<6=4O 5>?57=L ?57><E 

'�� 3 '4EF>F4 4OE4F5?L=OE 46<65=<= 

'%% 3 '4EF>F4 E5D45G=OE E>>D4M5=<= 

-�� 3 -?5>FD>>4D4<>7D4D<O 

-�� �$ 3 -?5>FD>>4D4<>7D4D<O 6OE>>>7> D47D5L5=<O 

-%��� 3 -E>>4D4<>7D4D<O 

6MWD 3 The 6-min walk distance (4<EF4=F<O, ?D>=45==4O 6 F5G5=<5 6 

<<=GF) 
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COVID-19 3 �45>?564=<O, 6O764==O5 >>D>=46<DGE=>= <=D5>F<5= 

C�2 3 '7?5><E?O= 747 

DLCO 3 Diffusing Capacity Of The Lungs For Carbon Monoxide (<5D4 

E?>E>5=>EF< 7474 ?5D5E>4<FL <7 4?L65>? G5D57 4?L65>?OD=O= 

M?<F5?<= < >4?<??OD=O= M=4>F5?<= 6 MD<FD>F<FO) 

ET 3 Endurance time (4?<F5?L=>EFL ?5D5=>E<<>= D<7<G5E>>= 

=47DG7><) 

FEV 3 Forced Expiratory Volume (>5NU< D>DE<D>64==>7> 6O4>E4) 

FVC  3 Forced Vital Capacity (D>DE<D>64==4O 6<7=5==4O U<>>EFL 

?57><E) 

NT-proBNP 3 <>77>6>= =4FD<=GD5F<G5E><= 7>D<>= 3 55?>> 

PEF 3 Peak Expiratory Flow (?<>>64O >5NU<=4O E>>D>EFL 6O4>E4) 

PEP 3 Positive Expiratory Pressure (?>?>6<F5?L=>5 446?5=<5 6O4>E4 

3 4OE4F5?L=O= FD5=465D E E>?D>F<6?5=<5< 6>74GL=>7> 

?>F>>4 =4 6O4>E5) 

PFTs 3 $ulmonary function tests (<EE?54>64=<5 DG=>F<< ?57><E) 

PIF 3 Peak Inspiratory Flow (?<>>64O >5NU<=4O E>>D>EFL 64>E4) 

RMET 3 Respiratory muscle endurance training (FD5=<D>6>4 

6O=>E?<6>EF< 4OE4F5?L=OE <OLF) 

SARS-CoV-2 3 �5>?>G5G=O= >4=>F5?>G=O= (+)$��-6<DGE, >F=>EOM<=EO > 

D>4G Betacoronavirus 

VE 3 Minute ventilation (<<=GF=4O 65=F<?OF<O ?57><E) 
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4.  �<F5D4FGD=O= >57>D ?> ?D<<5=5=<N 7<?5D>4?=<G5E><E/7<?>>E<G5E><E 

4OE4F5?L=OE E<5E5= 6 <54<F<=5 < E?>DF5 

 

�45O <E?>?L7>64=<O 7<?5D>4?=<G5E><E < 7<?>>E<G5E><E EF<<G?>6 4?O 

6>EEF4=>6?5=<O 74>D>6LO 74D>4<?4EL 5M5 6 XIX 65>5, => ?>-?D56=5<G >G5=L 

4>FG4?L=4. �?<D4OEL =4 7<?>F57G �.�. %5G5=>64 > E?>6=OE D>D<4E 674<<>45=EF6<O 

<564G 46G>><ELN G7?5D>44 < ><E?>D>4>< 6 >D>6<, DGEE><= D<7<>?>7-<EE?54>64F5?L 

�.�. �5D<7> < GGFL ?>74=55 44FE><= D<7<>?>7-<EE?54>64F5?L �. �>D 6?5D6O5 

GEF4=>6<?< 746<E<<>EFL EF5?5=< 4<EE>F<4F<< >>E<75<>7?>5<=4 [234] >F 65?<G<=O 

?4DF<4?L=>7> 446?5=<O G7?5><E?>FO 6 >D>6<: ?D< E=<65=<< ?4DF<4?L=>7> 446?5=<O 

G7?5><E?>7> 7474 6 4?L65>?OD=>< 6>74GE5 < 6 >D>6< ED>4EF6> ><E?>D>44 (�2) > 

75<>7?>5<=G ?>6OL45FEO, GF> 74FDG4=O5F ?5D5E>4 ><E?>D>44 <7 >4?<??OD>6 6 F>4=< < 

>D74=O. -F> O6?5=<5 E57>4=O <765EF=> >4> MDD5>F �5D<7> 3 �>D4 [435]. 

�<E?>D>4 O6?O5FEO >?NG56O< <EF>G=<>>< 6<7=545OF5?L=>EF< 4?O >D74=<7<4 

G5?>65>4, F4> >4> GG4EF6G5F 6 E<<<G5E><E D54>F<OE >><E?<F5?L=>7> F<?4 3 

D4EM5??5=<O <4>D><>?5>G? ?<M56OE <=7D54<5=F>6 < 6OE6>5>645=<O <7 =<E M=5D7<< 

4?O DG=>F<>=<D>64=<O >D74=>6 < F>4=5=. �>=5G=O< ?D>4G>F>< >><E?5=<O O6?O5FEO 

46G>><EL G7?5D>44 (%�2). �E=>6=4O DG=>F<O 4OE4=<O 74>?NG45FEO 6 >5<5=5 

G>474==OE 46GE 747>6 <564G >D74=<7<>< < 4F<>ED5D>=, < D54?<7G5FEO MF4 DG=>F<O 

?>ED54EF6>< ?57>G=>= 65=F<?OF<< [3]. �<E?>D>4 < G7?5><E?O= 747 O6?ONFEO 

EF<<G?OF>D4<< ?57>G=>= 65=F<?OF<<: < G65?<G5=<5 E>45D64=<O CO2 <7=4G4?L=> 6> 

64OE45<>< 6>74GE5, 4 74F5< 6 >D>6<, < >?>ED54>64==>5 E=<65=<5 >>=F5=FD4F<< O2 3 

7<?>>E5<<O 3 F4>65 4>F<6<DGNF 4OE4=<5, ?D<G5< =4<5>?55 6OD465==>5 6>745=EF6<5 

>>47O645F G7?5><E?O= 747 [4, 5]. 

�F ?4DF<4?L=>7> 446?5=<O 46G>><E< G7?5D>44 746<E<F E>EF>O=<5 >>DO 

7>?>6=>7> <>774, 4OE4F5?L=>7> < E>EG4>46<74F5?L=>7> F5=FD>6, >>F>DO5, 6 E6>N 

>G5D54L, D57G?<DGNF 6<7=545OF5?L=>EFL >D74=<7<4 [6, 7]. �55>?LL>5 ?>6OL5=<5 

GD>6=O CO2 6 >D>6< 5?47>?D<OF=> 6>745=EF6G5F =4 <>77 < <<>>4D4, G65?<G<64O <E 

>D>6>E=4565=<5, EF<<G?<DG5F ?D>F5EEO 5<>E<=F574 < D575=5D4F<N ?>6D5645==OE 

F>4=5=; ?>6OL5==>5 E>45D64=<5 G7?5><E?>7> 7474 6 >D>6< O6?O5FEO =5 F>?L>> 
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4>F<64F>D>< 4OE4F5?L=>7> F5=FD4, => < 4>?>?=<F5?L=O< EF<<G?>< 4?O 

E>EG4>46<74F5?L=>7> F5=FD4 [3, 8]. �D< 4OE4=<< G5?>65> E>65DL45F >G5D54=>= 64>E 

?<LL ?D< <75OF>5 46G>><E< G7?5D>44 [3, 7, 9]. 

�>>474=>, GF> F5=FD4?L=O= 75=5D4F>D ?4FF5D=4 4OE4=<O =5 >5?4445F ?DO<>= 

E<<<G5E>>= E6O7LN E =4?DO65=<5< ><E?>D>44 < G7?5><E?>7> 7474 6 >D74=<7<5, 4 F4>65 

E >>=F5=FD4F<5= 6>4>D>4=OE <>=>6 6 >D>6< < E?<==><>77>6>= 6<4>>EF<. �57>G=4O 

65=F<?OF<O >EGM5EF6?O5FEO 74 EG5F <<?G?LE4F<<, <EE>4OM5= >F E5<>D5F5?F>D>6 

4OE4F5?L=>= E<EF5<O 3 F5=FD4?L=OE (5G?L54D=OE) < ?5D<D5D<G5E><E 

(4DF5D<4?L=OE); ?D>4GF<DG5<O5 <<< E<7=4?O E>744NF =G6=O= 4D4=6, 

?>445D6<64NM<= F5=FD4?L=O= <5E4=<7< ?4FF5D=4 4OE4=<O 6 4>F<6=>< E>EF>O=<<. 

�45>64F=O< E<7=4?>< 4?O D45>FO F5=FD4?L=OE E5<>D5F5?F>D>6 E?G6<F =4?DO65=<5 

CO2 </<?< >>=F5=FD4F<O 6>4>D>4=OE <>=>6 6> 6=5>?5F>G=>= 6<4>>EF< <>774, 

>>F>DO5 E4D4>F5D<7GNF ?4DF<4?L=>5 446?5=<5 46G>><E< G7?5D>44 < D� 4DF5D<4?L=>= 

>D>6<; ?D< MF>< D45>F4 44==OE E5<>D5F5?F>D>6 >EGM5EF6?O5FEO ?> ?D<=F<?G 

>FD<F4F5?L=>= >5D4F=>= E6O7<, 745 7<?5D>4?=<O < 4F<4>7 ?D>6>F<DGNF G65?<G5=<5 

?57>G=>= 65=F<?OF<<, 4 7<?>>4?=<O < 4?>4?>7 55 ?>446?ONF [3]. �>?55 6OD465==>5 

D57G?OF>D=>5 6?<O=<5 =4 <5E4=<7<O D57G?OF<< 4OE4=<O >>47O645F <<5==> 

7<?5D>4?=<G5E><= EF<<G? (<?< 7<?5D>4?=<G5E><= 4D4=6), 4 =5 7<?>>E<G5E><= EF<<G? 

(7<?>>E<G5E><= 4D4=6) [3]. 

�4 E>45D64=<5 ><E?>D>44, >4> < G7?5><E?>7> 7474 6 >D74=4E < F>4=OE 

G5?>65G5E>>7> >D74=<7<4, <>7GF 6?<OFL >4> 6=5L=<5, F4> < 6=GFD5==<5 D4>F>DO: 

1. �D55O64=<5 6 6OE>>>7>DL5, 74=OF<O E?>DF>< 6 ED54=57>DL5 <?< 

4OE4=<5 <E>GEEF65==O<< 747>6O<< E<5EO<< (7<?5D>4?=<G5E><= </<?< 

7<?>>E<G5E><= 4D4=6O), 4 F4>65 =4E>645=<5 6 74<>=GF>< ?D>EFD4=EF65 

E>?D>6>644NFEO <=E?<D4F>D=>= 7<?>>E<5= <?< 7<?>>E5<<G5E>>= 7<?>>E<5= 

F>4=5= (=<7>>5 ?4DF<4?L=>5 446?5=<5 ><E?>D>44 <7-74 =5E?>E>5=>EF< ?57><E 

=4EOM4FL >D>6L 4>EF4F>G=O< 57> >>?<G5EF6>< ?D< 7<?>65=F<?OF<<, =4DGL5=<< 

4?L65>?OD=>= 4<DDG7<<, ?57>G=>< LG=F<D>64=<<), 6 <F>75: ?>EF5?5==4O 

444?F4F<O >D74=<7<4 > =>6O< GE?>6<O< [4]; ?D< MF>< G >?5F>< 5EFL 3 64D<4=F4 

?>?GG5=<O 4>?>?=<F5?L=>= M=5D7<<: 
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- <E?>?L7>64=<5 D575D6=>7> ><E?>D>44; 

- 4=4MD>5=O= 7?<>>?<7; 

- D4EM5??5=<5 5>74FOE M=5D7<5= D>ED4F>6 (�&$, >D54F<=D>ED4F) [4]. 

2. �4DGL5=<5 ?D>E>4<<>EF< 4OE4F5?L=OE ?GF5=, E?45>EFL 

4OE4F5?L=OE <OLF, =54>EF4F>G=>EFL 4OE4F5?L=>7> F5=FD4 (?D< >FD46?5=<OE) 

?D<6>4OF > E=<65=<N 65=F<?OF<< ?57><E, >>F>D>5, 6 E6>N >G5D54L, F4>65 

4EE>F<<D>64=> E <=E?<D4F>D=>= 7<?>>E<5=. 

3. %?47< 5D>=E<>? ?D< 5D>=E<4?L=>= 4EF<5, 74?>?=5=<5 4?L65>? 

6<4>>EFLN ?D< ?=56<>=<< [4]. 

� 5E?< 6 E?GG45 6>745=EF6<O D4>F>D>6 46GE ?>E?54=<E 7DG?? (>4> M>7>75==OE, 

F4> < M=4>75==OE) =5>5E>4<<O< ?D54EF46?O5FEO ?D>6545=<5 F5D4?56F<G5E><E 

<5D>?D<OF<=, F> 6?<O=<5 D4>F>D>6 ?5D6>= 7DG??O ?D54?>?4745F >5>E=>64==GN 

D54?<74F<N <5D>?D<OF<=, =4?D46?5==OE =4 ?>6OL5=<5 MDD5>F<6=>EF< 

444?F4F<>==OE <5E4=<7<>6, 6 F>< G<E?5 E ?D<<5=5=<5< 4??4D4F=OE <5F>4<>. 

 

4.1.  >EE<=E><5 < 74DG556=O5 <EE?54>64=<O ?> >5>E=>64=<N 

MDD5>F<6=>EF< 4OE4F5?L=OE FD5=465D>6 

 

�4=OF<O E?>DF>< E>?DO65=O E 6OE>><<<, =5D54>> <75OF>G=O<<, 

FD5=<D>6>G=O<< < E>D56=>64F5?L=O<< EF<<G?4<<, >4> D<7<G5E><<<, F4> < 

?E<E<G5E><<<. �?O ?>445D64=<O 6>7<>6=>EF< E?D46?OFLEO E F4><<< =47DG7>4<< 

=5>5E>4<<4 6OE>>4O MDD5>F<6=>EFL E<EF5<O 4OE4=<O, D476<FO5 E?>E>5=>EF< > 55 

5OEFD><G ?>EF=47DG7>G=><G 6>EEF4=>6?5=<N, GF> ?D54>?D545?O5F 55 =4456=>EFL, 6 

5>?LL<=EF65 E?GG456 =5>5E>4<<> <<5FL <75OF>G=>EFL D5EGDE>6. � >E>5>5 7=4G5=<5 

DG=>F<>=4?L=O5 D575D6O D5E?<D4F>D=>= E<EF5<O ?D<>5D5F4NF ?D< 6>EEF4=>6?5=<< 

?>E?5 >EFDOE D5E?<D4F>D=OE 6<DGE=OE 745>?564=<=, >E?>6=5==OE ?=56<>=<O<< 

D47?<G=>7> 75=574; ?>E?54=<5 74FDG4=ONF ?D>F5EE 6>7>5=>6?5=<O E?>DF<6=>= 

45OF5?L=>EF<. � E>45 ?D>6545=<O 6>EEF4=>6<F5?L=OE <5D>?D<OF<= ?>EF5?5==> 

6>7D4EF45F 6<7=5==4O 5<>>EFL ?57><E, D4EF5F >>?<G5EF6> 4?L65>?, G>D5??O5FEO 

4OE4F5?L=4O <GE>G?4FGD4 < E5D45G=>-E>EG4<EF4O E<EF5<4, GF> E>?D>6>6445FEO 
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G?GGL5=<5< ?57>G=>= 65=F<?OF<<; F4>65 ?>6OL45FEO >5M4O 6O=>E?<6>EFL. � 

EGM=>EF<, MF> F4> =47O645<4O FD5=<D>6>4 6O=>E?<6>EF< 4OE4F5?L=OE <OLF 3 RMET 

(respiratory muscle endurance training). �>4>5=O= F<? FD5=<D>6>< 7445=EF6G5F =5 

F>?L>> <OLFO 64>E4, => < 6O4>E4, GF> E6<45F5?LEF6G5F > 5>?55 D<7<>?>7<G5E>>< 

E?>E>55 G?GGL5=<O DG=>F<< 4OE4F5?L=OE <OLF. RMET >?>ED54G5F MDD5>F 

>F?>65==>7> GF><?5=<O 4OE4F5?L=>= <GE>G?4FGDO [10311]. �O?> 6OE>474=> 

?D54?>?>65=<5, GF> RMET 6 7<?>>E<G5E><E GE?>6<OE 6O7O645F ?>6OL5=<5 

6O=>E?<6>EF< 4OE4F5?L=OE <OLF E >E?45?5=<5< <5F45>D5D?5>E4 [12] (E=<65=<5 

MDD5>F<6=>EF< 75<>4<=4<<>< 6E?54EF6<5 =5E>EF>OF5?L=>EF< 4OE4F5?L=OE <OLF) < 

?>E?54GNM<< ?>6OL5=<5< >5M5= 6O=>E?<6>EF<. 'F>5O ?D>65D<FL MFG 7<?>F57G, 

<EE?54>64F5?< >F5=<?< E?>E>5=>EFL 4OE4F5?L=OE <OLF ?D>F<6>EF>OFL GF><?5=<N < 

DG=>F<N >4D4<>64E>G?OD=>= E<EF5<O 6> 6D5<O 7<?5D?=>M < G?D46=5=<=, 

D476<64NM<E 6O=>E?<6>EFL, 4> < ?>E?5 6 =545?L RMET 6 GE?>6<OE 7<?>>E<< G 21 

557G=4, G65 >5?444NM57> 4>EF4F>G=> 6OE>><< GD>6=5< 6O=>E?<6>EF<. � D57G?LF4F5 

<EE?54>64F5?O<< 5O?< ?>?GG5=O E?54GNM<5 4>>474F5?LEF64 6O46<=GF>= 7<?>F57O:  

1. �>E?5 6 =545?L RMET, ?D>6>4<<>= >4> 6 =>D<>>E<G5E><E, F4> < 6 

7<?>>E<G5E><E GE?>6<OE, 6D5<O D476<F<O GF><?5=<O 4OE4F5?L=OE <OLF 

G65?<G<64?>EL, 4 D54>F<O 4DF5D<4?L=>7> 446?5=<O (��) =4 7<?5D?=>M >E?45564?4; 

2.   �D< MF>< 6D5<O 5574 4> <EF>M5=<O ?D< =47DG7>5 =4 GD>6=5 95 % >F ?<>>6>7> 

?>FD55?5=<O ><E?>D>44 G65?<G<64?>EL; 

3. �OD465==>EFL <7<5=5=<= 6 7<?>>E<G5E>>= < =>D<>>E<G5E>>= 7DG??4E 

7=4G<<> =5 D47=<?4EL. $47?<G<O 5O?< 74D<>E<D>64=O ?<LL ?D< E>?>EF46?5=<< E> 

7=4G5=<O<< 7DG??O >>=FD>?O.  

�>?GG5==O5 D57G?LF4FO E6<45F5?LEF6>64?< > F><, GF> RMET ?>6OL45F < 

?D>?>=7<DG5F ?D><76>4<F5?L=>EFL 4OE4F5?L=OE <OLF, 4 F4>65 ?D<FG??O5F 

<5F45>D5D?5>E, ?>6OL4O MDD5>F<6=>EFL G?D46=5=<=, D476<64NM<E >4G5EF6> 

6O=>E?<6>EF<. �4=4>> 6O?>?=5=<5 RMET 6 7<?>>E<G5E><E GE?>6<OE =5 445F =<>4><E 

4>?>?=<F5?L=OE MDD5>F>6 [12]. 

�M5 6 >4=>< ?D>E?5>F<6=>< D4=4><<7<D>64==>< >?<=<G5E>>< <EE?54>64=<< 

GG5=O5 <7 $D4=F<< Hélène Laurent, Sylvie Aubreton < Géraud Galvaing >F5=<?< 
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6?<O=<5 3-=545?L=>= ?D54>?5D4F<>==>= ?D>7D4<<O RMET =4 DG=>F<>=4?L=O5 

E4D4>F5D<EF<>< 4OE4F5?L=>= <GE>G?4FGDO < ?>E?5>?5D4F<>==O5 >E?>6=5=<O G 

?4F<5=F>6, ?5D5=5EL<E D575>F<N ?57>>7> ?> ?>6>4G =5<5?>>>?5F>G=>7> D4>4 

(��$�) [11]. � F5G5=<5 3 =545?L FD5=<D>6>G=4O 7DG??4 ?D>65?4 12 E54=E>6 

?D54>?5D4F<>==>= RMET, E>EF>OM5= <7 <7>>4?=<G5E>>7> 7<?5D?=>M, 6 4>?>?=5=<5 > 

>5OG=>= D<7<>F5D4?<< 7DG4=>= >?5F><; 6 ?D>7D4<<5 ?>47>F>6>< <E?>?L7>64?>EL 

GEFD>=EF6> Spiro Tiger 3 D5E?<D4F>D=O= FD5=465D [13]. � 7DG??5 & (E 

?D54>?5D4F<>==>= RMET 6 4>?>?=5=<5 > FD44<F<>==>= D<7<>F5D4?<< =4 >5?4EFL 

7DG4=>= >?5F>< ?5D54 >?5D4F<5= ?> ?>6>4G ��$�), 6 ED46=5=<< E 7DG??>= C 

(<E>?NG<F5?L=> E D<7<>F5D4?<5= ?5D54 >?5D4F<5=), F5EF =4 6O=>E?<6>EFL ?D< 

<7>>4?=<G5E>>< 7<?5D?=>M  ?>>474?, GF> <<=GF=4O 65=F<?OF<O ?57><E (VE 3 minute 

ventilation) < 4?<F5?L=>EFL ?5D5=>E<<>= D<7<G5E>>= =47DG7>< (ET 3 Endurance time) 

7=4G<F5?L=> 6OD>E?< <<5==> ?>E?5 FD5=<D>6>< 6O=>E?<6>EF< 4OE4F5?L=OE <OLF 

[11]. �>?<G5EF6> ?>E?5>?5D4F<>==OE ?U7>G=OE >E?>6=5=<= 5O?> 4>EF>65D=> =<65 

F4>65 6 7DG??5 &. 

%?54>64F5?L=>, 6?>?=5 65D>OF=O< ?D54EF46?O5FEO ?D54?>?>65=<5, GF> 5E?< 

RMET 6=>E<F EF>?L EGM5EF65==O= 6>?44 6 G?GGL5=<5 4OE4F5?L=>= DG=>F<< G 

?4F<5=F>6 E >=>>?>7<G5E><< 745>?564=<5<, >4> =4 ?D54-, F4> < =4 ?>E?5>?5D4F<>==>< 

MF4?4E ?5G5=<O, F> 6?>?=5 G4>6?5F6>D<F5?L=O<< <>7GF 5OFL < D57G?LF4FO ?>4>5=>= 

FD5=<D>6>< G ?4F<5=F>6, ?5D5=5EL<E >EFDGN D5E?<D4F>D=GN 6<DGE=GN <=D5>F<N 

(�$��), 6>?NG4O COVID-19, 4 F4>65 ?=56<>=<N D47?<G=>7> 75=574. 

�4==>5 ?D54?>?>65=<5 ?>?GG<?> ?>4F65D645=<5 6 =5446=5< <EE?54>64=<<, 

?D>6545==>< <E?4=E><<< GG5=O<< &amara Del Corral < E>46F.; 6 D4=4><<7<D>64==>< 

>>=FD>?<DG5<>< <EE?54>64=<< 5O?> >?<E4=>, >4>>5 6?<O=<5 RMET E 

<E?>?L7>64=<5< 4OE4F5?L=OE FD5=465D>6 (D54?L=OE < <<<F4F<>==OE) 6 4><4L=<E 

GE?>6<OE >>47O645F =4 >4G5EF6> 6<7=< < ?5D5=>E<<>EFL D<7<G5E><E =47DG7>> G ?<F E 

4>?7>ED>G=O<< E<<?F><4<< ?>E?5 COVID-19 [12]. � 44==>< <EE?54>64=<< 

ED46=<64?<EL 4 7DG??O: 

1. �DG??4 RMT 3 >><5<=<D>64==4O FD5=<D>6>4 4OE4F5?L=OE <OLF (<OLFO 

64>E4/6O4>E4) E <E?>?L7>64=<5< D54?L=>7> 4OE4F5?L=>7> FD5=465D4.  
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2. �DG??4 RMTi 3 >><5<=<D>64==4O FD5=<D>6>4 4OE4F5?L=OE <OLF (<OLFO 

64>E4/6O4>E4) E <E?>?L7>64=<5< <<<F4F<>==>= >>?<< 4OE4F5?L=>7> FD5=465D4. 

 3. �DG??4 IMT 3 <7>?<D>64==4O FD5=<D>6>4 <=E?<D4F>D=OE <OLF (<OLF 

64>E4) E <E?>?L7>64=<5< D54?L=>7> 4OE4F5?L=>7> FD5=465D4. 

4.  �DG??4 IMTi 3 <7>?<D>64==4O FD5=<D>6>4 <=E?<D4F>D=OE <OLF (<OLF 

64>E4) E <E?>?L7>64=<5< <<<F4F<< FD5=465D4. 

�DG??4 RMT (>><5<=<D>64==4O FD5=<D>6>4) ?D>45<>=EFD<D>64?4 5>?LL55 

GE<?5=<5 <OLF 6O4>E4, =565?< >55 7DG??O <<<F4F<>==OE FD5=<D>6>>; >D><5 F>7>, 

>><5<=<D>64==4O FD5=<D>6>4 ?>76>?<?4 4>5<FLEO 5>?55 6OD465==>7> ?>6OL5=<O 

DG=>F<< <OLF 6O4>E4, ?> ED46=5=<N E <7>?<D>64==>= FD5=<D>6>>= [12]. &4>65 

F>?L>> 7DG??4 RMT ?>>474?4 >?<=<G5E>< 7=4G<<O5 G?GGL5=<O >4G5EF64 6<7=< ?D< 

E>?>EF46?5=<< E 7DG??>= RMTi, => E GG5F>< D4>F4 >FEGFEF6<O 4>EF>65D=OE D47?<G<= 

<564G MDD5>F4<< RMT, E >4=>= EF>D>=O, < IMT < IMTi 3 E 4DG7>=; ?>MF><G 

?>?GG5==O5 D57G?LF4FO <EE?54>64F5?< D5>><5=4>64?< <=F5D?D5F<D>64FL E 

>EF>D>6=>EFLN. �D><5 F>7>, 46F>DO 6OL5G?><O=GF>= ?G5?<>4F<< 6OO6<?< 

?>?>6<F5?L=>5 6?<O=<5 FD5=<D>6>< 4OE4F5?L=OE <OLF =4 G<5=LL5=<5 

6OD465==>EF< 4>?7>ED>G=OE E<<?F><>6 >>D>=46<DGE=>= <=D5>F<<, 4 <<5==> 

7=4G<F5?L=>5 ?>446?5=<5 >4OL><, 4 F4>65 =4 G?GGL5=<5 DG=>F<< 4OE4F5?L=OE 

<OLF [12]. 

$>EE<=E><<< GG5=O<< �GL=4D56>= ..�., �>DO7<=>= ..�. < 4DG7<<< 46F>D4<< 

<7 %565D>-�46>47E>>7> D545D4?L=>7> =4GG=>->?<=<G5E>>7> F5=FD4 $��� $>EE<< 

5O?> ?D>6545=> <7GG5=<5 6?<O=<O >GDE4 <=74?OF<= 7<?5D>>E<G5E>>= 747>6>= E<5ELN 

=4 DG=>F<>=4?L=>5 E>EF>O=<5 E<EF5<O 6=5L=57> 4OE4=<O E?>DFE<5=>6, ?5D5=5EL<E 

>>D>=46<DGE=GN <=D5>F<N, 6> 6D5<O ?D55O64=<O =4 GG55=>-FD5=<D>6>G=OE E5>D4E 

('&%) 6 GE?>6<OE ED54=57>DLO.  �4 6OE>F5 1240 < (7>D4 �4?>5 E54?>, 7. �<E?>6>4E>) 

=4 5475 $�'� «.7 E?>DF» 19 E?>DFE<5=4< D47?<G=OE 6<4>6 E?>DF4 =4 D>=5 

<=F5=E<6=OE FD5=<D>6>G=OE =47DG7>> ?D>6>4<?<EL 7<?5D>>E<G5E><5 <=74?OF<< E 

<E?>?L7>64=<5< ><E?>D>4=>7> >>=F5=FD4F>D4 JAY-10 (Longfian, �<F4=). � D57G?LF4F5 

ED>D<<D>64?4EL F5=45=F<O > G65?<G5=<N 747>>5<5=4 6 ?57><E, D4EL<D5=<N 5D>=E>6 

< ?>6OL5=<N <E ?D>E>4<<>EF< [14]. 
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� <EE?54>64=<< �<LGEF<=>= �... 5O?> ?D>6545=> >?<=<G5E>>5 <E?OF4=<5 

FD5=465D4 «�==>64F<>==4O 4OE4F5?L=4O <4E>4 AIRONIC» ($>EE<O, 7. %4<4D4) 3 

4OE4=<5 7<?5D>4?=<G5E><<< 747>6O<< E<5EO<< 6> 6D5<O D545<?<F4F<< 4?O 

?D54>F6D4M5=<O >E?>6=5=<= < 6>EEF4=>6?5=<O ?>>474F5?5= 4OE4F5?L=>= E<EF5<O. 

%?GEFO 2 =545?< >F =4G4?4 74=OF<= G ?4F<5=F>6 E=<64?EO >5N5< ?57>G=>= 65=F<?OF<< 

6 ?>>>5, ?D5<<GM5EF65==> 74 EG5F G<5=LL5=<O 7?G5<=O 4OE4=<O. '65?<G<64?<EL 

DG=>F<>=4?L=O5 D575D6O 6=5L=57> 4OE4=<O: 6<7=5==4O 5<>>EFL ?57><E 3 =4 12 %, 

<<=GF=4O 65=F<?OF<O ?57><E 3 =4 20 %. $575D6 4OE4=<O G65?<G<?EO E 4,1 4> 6,2 ? (6 

?>?F>D4 D474), 4 D>DE<D>64==4O 6<7=5==4O 5<>>EFL ?57><E 6>7D>E?4 =4 20 % [15]. 

�44> F4>65 >F<5F<FL, GF> 6 GG55=>< ?>E>5<< %F4D<>>64 %.�. < E>46F. 

>?<EO645FEO 6>7<>6=>EFL <E?>?L7>64=<O 4OE4F5?L=>7> FD5=465D4 Spiro Tiger E 

>F>DOFO< >>=FGD>< =4 5>?55 ?>74=5< MF4?5 D545<?<F4F<< ?>E?5 745>?564=<O 

4OE4F5?L=>= E<EF5<O =4 ?D<<5D5 ?=56<>=<<, 6O764==>= SARS-CoV-2 [16].  
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5. �E>55==>EF< F5G5=<O < 4<47=>EF<>< >>D>=46<DGE=>= <=D5>F<< G 

?4F<5=F>6, =5 4>EF<7L<E 6>7D4EF4 18 ?5F 

 

5.1. �E>55==>EF< F5G5=<O >>D>=46<DGE=>= <=D5>F<< G ?4F<5=F>6, =5 

4>EF<7L<E 6>7D4EF4 18 ?5F 

 

�4<5>?55 G4EF> G 45F5= (4> 18 ?5F) ?>E?5 ?5D5=5E5==>= <=D5>F<< E>>5M4?>EL 

> E=<65=<< F>?5D4=F=>EF< > D<7<G5E><< =47DG7>4< (57,1 %), >4OL>5 (42,9 %) < 

>4L?5 (42,9 %). �DG7<5 E<<?F><O 6>?NG4?< GEF4?>EFL (28,6 %), =4DGL5=<O E=4 (14,3 

%), E=<65=<5 >>=F5=FD4F<< < >FEGFEF6<5 4??5F<F4 (?> 14,3 %). �> 44==O< StanisCaw 

BogusCawski et al., =4<5>?55 D4E?D>EFD4=5==O<< ?>D465=<O<< 4OE4F5?L=>= E<EF5<O 

5O?< 4?<F5?L=O= >4L5?L, 5>?L 6 7DG4<, >4OL>4; >?<=<G5E>4O E<<?F><4F<>4 

E>>F65FEF6>64?4 F4><< 4<47=>74<, >4>: ED>=<G5E><= 5D>=E<F, 4EF<4, 

5D>=E>M>F4F<G5E>4O 5>?57=L, >>F>DO5 E>?D>6>644?<EL 4<EDG=>F<5= 4OE4=<O, 

D476<F<5< >5EFDG>F<< < D5EFD<>F<<: >5EFDG>F<6=O= 5D>=E<F 5O? 6OO6?5= G FD><E 

?4F<5=F>6, G G5FOD5E 5O?4 =4DGL5=4 4<DDG7=4O E?>E>5=>EFL ?57><E ?> <>=>>>E<4G 

G7?5D>44 (DLCO 3 Diffusing Capacity Of The Lungs For Carbon Monoxide), >>F>D4O 

D4EE<4FD<645FEO >4> <5D4 E?>E>5=>EF< 7474 ?5D5E>4<FL <7 4?L65>? G5D57 

4?L65>?OD=O= M?<F5?<= < >4?<??OD=O= M=4>F5?<= 6 MD<FD>F<FO. �>EF>O==O5 

D5E?<D4F>D=O5 E<<?F><O 5O?< >>=EF4F<D>64=O G 50 % ?4F<5=F>6 ?>E?5 FO65?>7> 

F5G5=<O 745>?564=<O < G 12,5 % 3 ?>E?5 745>?564=<O ED54=5= FO65EF<; ?D< MF>< 

E>?>==>EFL > ?D>?>=74F<< D5E?<D4F>D=OE E<<?F><>6 E6O74=4 =5 EF>?L>> E FO65EFLN 

COVID-19 G 45F5=, E>>?L>> E E>?GFEF6GNM<< COVID-19 6>E?4?<F5?L=O< ?D>F5EE><, 

>>F>DO= >5OG=> ?D>4>?645FEO =5746<E<<> >F FO65EF< 745>?564=<O, < <<5==> 

6>E?4?5=<5 74FD47<645F ?5D<D5D<G5E><5 4OE4F5?L=O5 ?GF< [1]. 

Han MS < E>46F. >F<5F<?< 6?<O=<5 6>7D4EF4 =5E>65DL5==>?5F=<E =4 

?D5>5?444=<5 F>7> <?< <=>7> F<?4 SARS-CoV24 < E6O74==GN E =<< EF5?5=L 

6OD465==>EF< >F45?L=OE ?45>D4F>D=OE ?4D4<5FD>6; F4>, ?> 44==O< >4=>D4>F>D=>7> 

4=4?<74, =5=FD>?5=<O ED54< 45F5= 4> 2 ?5F 6EFD5G4?4EL G4M5 (6 61 % E?GG456) 6 E>45 

�5?LF4-6>?=O, ?5=>>- < ?<<D>?5=<O ?D5>5?444?< (28 < 33 % E>>F65FEF65==>) 6 7DG??5 
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4> 5 ?5F =4 6>?=5 �<<>D>=4, 6 7DG??5 4> 10-?5F=57> 6>7D4EF4 5O?4 >F<5G5=4 EE>4=4O 

>4DF<=4 3 ?D5>5?444=<5 ?5=>>- < ?<<D>?5=<< 6 E>45 �<<>D>=-6>?=O, => 6>7=<>4?< 

>=< 7=4G<F5?L=> G4M5 (65 < 54 %), ED54< E4<OE EF4DL<E 45F5= >4DF<=4 =4?><<=4?4 

F4>>6GN 6 E4<>= <?44L5= 6>7D4EF=>= 7DG??5 3 =45?N44?4EL 5>?55 6OE>>4O 4>?O 

?5=>>?5=<< 6> 6D5<O �5?LF4-6>?=O. &4>65 5O?> 74<5G5=>, GF> G 45F5= 6 F5?>< 

>?<=<G5E><5 ?D>O6?5=<O 5O?< 5>?55 <O7><<<, =565?< G 67D>E?OE, => <<5?< 

=5>>F>DGN E?5F<D<>G, 4 <<5==>: 6> 6D5<O 6>?=O �5?LF4-LF4<<4 >>D>=46<DGE4 

?<E>D44>4 5O?4 5>?55 4?<F5?L=>= (g 5 4=5=) < 5>?55 6OE>><< 5O? % 

D4E?D>EFD4=U==>EF< ?=56<>=<<, G5< ?D< <=OE LF4<<4E (�D545?LF4 < �<<>D>=) [17].  

� EF4FL5 4<5D<>4=E><E GG5=OE Kompaniyets L < E>46F. 7>6>D<FEO > F><, GF> G 

45F5= 6 6>7D4EF5 4> 2 ?5F D4>F =4?<G<O ED>=<G5E><E 745>?564=<= >D74=>6 7DG4=>= 

>?5F>< < =56D>?>7<G5E><E D4EEFD>=EF6 >?>ED54G5F 5>?55 6OE>><= D<E> FO65?>7> 

F5G5=<O COVID-19 [18]. � EF4FL5 Waghmare A < Hijano DR >?<E4=>, GF> SARS-CoV-2 

6O7O645F 75F5D>75==>5 ?>D465=<5 4OE4F5?L=OE ?GF5= E D4E?D>EFD4=5=<5< ?D>F5EE4 

=4 =<6=<5 4OE4F5?L=O5 ?GF< < D476<F<5< ?=56<>=<=, >>F>DO5 O6?ONFEO =4<5>?55 

G4EFO< ?D>O6?5=<5<, 4 >EFDO= D5E?<D4F>D=O= 4<EFD5EE-E<=4D>< 3 =4<5>?55 

FO65?O< [19]. 

 

5.2. �?7>D<F< 4<47=>EF<>< >>D>=46<DGE=>= <=D5>F<< G ?4F<5=F>6, =5 

4>EF<7L<E 6>7D4EF4 18 ?5F 

 

�<47=>7 ?=56<>=<< COVID-19 >E=>64= =4 >?<=<G5E><E E<<?F><4E, 

D57G?LF4F4E 6<DGE>?>7<G5E>>7> <EE?54>64=<O <47>4 E> E?<7<EF>= =>E>6OE E>4>6 < 

D5=F75=>?>7<G5E><E D57G?LF4F4E. �5D>OF=O<< D5=F75=>?>7<G5E><<< ?D<7=4>4<< 

>>D>=46<DGE=>= ?=56<>=<< G 45F5= O6?ONFEO GF>?M5=<5 5D>=E>6, D5=><5= 

«<4F>6>7> EF5>?4» (E?54G5F >F<5F<FL, GF> 4<47=>EF<G5E>4O 7=4G<<>EFL 44==>7> 

E<<?F><4 O6?O5FEO, E>>D55, 4<E>GF455?L=>=) < ?U7>G=4O >>=E>?<44F<O. %?54G5F 

>F<5F<FL, GF> < G?LFD476G>>6>5 <EE?54>64=<5 ?57><E <>65F D4EE<4FD<64FLEO 6 

>4G5EF65 4<47=>EF<G5E>>7>, ?D>7=>EF<G5E>>7> < 4<E?4=E5D=>7> =45?N45=<O G 45F5= E 

COVID-19. %>FO ?>GF< 6E5 45F< E ?=56<>=<5= COVID-19 <<5?< 5?47>?D<OF=O5 
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<EE>4O, 6>7<>6=> 4?<F5?L=>5 E>ED4=5=<5 D5E?<D4F>D=OE 4<EDG=>F<=, >4> < 6 E?GG45 

4DG7<E 6<DGE=OE ?=56<>=<= [20]. 

�?<=<G5E>4O >F5=>4 ?>EF>>6<4=OE ?57>G=OE ?4F>?>7<= G 45F5= 6>?NG45F 6 

E55O 4=4<=57 5>?57=<, D<7<>4?L=>5 >5E?54>64=<5, '�� ?57><E < DG=>F<>=4?L=>5 

?57>G=>5 F5EF<D>64=<5 (PFTs 3 pulmonary function tests): 

1) �=4<=57: 64?>5O < <EF>D<O D476<F<O 745>?564=<O. 

2) $<7<>4?L=>5 >5E?54>64=<5: EF4=44DF=O= >5M<= >E<>FD D555=>4, 

>F5=>4 ?D<7=4>>6 <=F>>E<>4F<<, 4OE4F5?L=>= =54>EF4F>G=>EF< (��) 3 E4D4>F5D 

>4L?O, GG4EF<5 6E?><>74F5?L=>= <GE>G?4FGDO 6 4>F5 4OE4=<O, D474G64=<5 >DO?L56 

=>E4, 6FO7<64=<5 ?>4D555D=OE >5?4EF5=, <56D555D=OE ?D><56GF>>6, OD5<=>= O<>< 

?D< 4OE4=<<, G4EF>F4 4OE4F5?L=OE 46<65=<= ('��) < E5D45G=OE E>>D4M5=<= ('%%) 

6 F5G5=<5 =5 <5=55 1 <<=GFO; ?5D>GF>D=>5 <EE?54>64=<5 ?57><E < 4GE>G?LF4F<O 

?57><E E 4>F5=F<D>64=<5< 6=<<4=<O =4 E<<<5FD<G=>EFL 4OE4=<O. 

�D< 6OO6?5=<< «>DOEFOM57>» 4OE4=<O, D474G64=<= >DO?L56 =>E4 ?D< 4OE4=<<, 

6OD465==>7> F4E<?=>M < 6FO65=<= GEFG?G<6OE <5EF 7DG4=>= >?5F>< =5>5E>4<<> 

=5<54?5==> >55E?5G<FL D555=>G 4>?>?=<F5?L=O= ><E?>D>4. �G?LE>>E<<5FD<N 

D5>><5=4>64=> ?D>6>4<FL 6E5< 45FO< E F5?LN >><??5>E=>= >F5=>< E>EF>O=<O < 

>?D545?5=<O ?>>474=<= > 7>E?<F4?<74F<< [21]. 

3) �=EFDG<5=F4?L=>5 <EE?54>64=<5 

4) '�� ?57><E 

�5N5>F<6=4O 6<7G4?<74F<O 6>74GE4, 6<4>>EF<, GF> ?>76>?O5F D4=> 

4<47=>EF<D>64FL ?>F5=F<4?L=O5 <?< G65 <<5NM<5EO >E?>6=5=<O. �>???5D>7D4D<O 

?57><E ?>76>?O5F E6>56D5<5==> 4<47=>EF<D>64FL =5>D>F<G5E><5 <7<5=5=<O (6 5>?55 

D4==<5 ED>><, G5< >><?LNF5D=4O F><>7D4D<O) < >F5=<FL MDD5>F ?D>6>4<<>= F5D4?<< 

[22]. 

'�� ?57><E ?>4F65D6445F 4<47=>7 ?>D465=<O ?57><E G 10 <7 12 ?4F<5=F>6 E 

?>?>6<F5?L=O<< D57G?LF4F4<< ?> 44==O< �&, GF> 4>>47O645F MDD5>F<6=>EFL <5F>44 

6 6OO6?5=<< ?4F>?>7<< E> EF>D>=O ?57>G=>= E<EF5<O G 45F5= [23]. 

�F5=>4 ?57><E ?D>6>4<FEO 6 E<4OG5< ?>?>65=<< G 45F5= EF4DL57> 6>7D4EF4 < 6 

?>?>65=<< ?564 G <?445=F56 < 45F5= <?44L57> 6>7D4EF4, 6E5 >5?4EF< ?57><E 
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<EE?54GNFEO ?>?5D5G=> < ?D>4>?L=>. �4<5>?55 D4E?D>EFD4=5==O5 ?D>O6?5=<O 

?>EF>>6<4=OE <7<5=5=<= 3 =55>?LL<5 EG5??56D4?L=O5 >>=E>?<44F<<, ??56D4?L=O= 

6O?>F. 

5)  5=F75=>7D4D<O 7DG4=>= >?5F><  

$5=F75=>7D4D<O ?57><E (F<DD>64O) D5>><5=4G5FEO 6 E?54GNM<E E?GG4OE: 

- �4?<G<5 ?D<7=4>>6 ��; 

- �<E>D44>4 557 >G474 <=D5>F<< (?D< =4?<G<< ?45>D4F>D=OE <4D>5D>6 

54>F5D<4?L=>= <=D5>F<< </<?< ?D<7=4>>6 FO65EF< E>EF>O=<O); 

- �>>4?L=O5 </<?< 4E<<<5FD<G=O5 4GE>G?LF4F<6=O5 < ?5D>GF>D=O5 <7<5=5=<O 

6 ?57><E. 

6) �& 7DG4=>= >?5F><  

�>7<>6=>EFL 6OO6?5=<O MDD5>F4 «<4F>6>7> EF5>?4» (>5?4EF< ?>6OL5==>= 

??>F=>EF< 3 74F5<=5=<O 6 ?57><E) >4> F5=FD4?L=>7>, F4> < ?5D<D5D<G5E>>7> 

D4E?>?>65=<O, <?< ?5D<5D>=E<4?L=>7>. �D><5 F>7>, <>7GF 5OFL 6OO6?5=O 

>>=E>?<44F<O ?57><E (G??>F=5=<5 ?57>G=>= F>4=< 74 EG5F 74?>?=5=<O 4?L65>? 

M>EEG44F><), GF>?M5=<O EF5=>> 5D>=E>6, ?<<D445=>?4F<O < ??56D4?L=O= 6O?>F. 

4) $G=>F<>=4?L=O5 <EE?54>64=<O ?57><E 

1. %?<D><5FD<O 3 6OO6?5=<5 D5EFD<>F<6=OE (>7D4=<G<F5?L=OE) < 

>5EFDG>F<6=OE =4DGL5=<=. �7<5DO5<O5 ?>>474F5?<: 6<7=5==4O 5<>>EFL ?57><E 3 

���, D>DE<D>64==4O 6<7=5==4O U<>>EFL ?57><E 3 $���, >5NU< 6>74GE4, 

6O4OE45<>7> 6 F5G5=<5 ?5D6>= E5>G=4O D>DE<D>64==>7> 6O4>E4 3 �$�1. 

2. �?5F<7<>7D4D<O 3 <EE?54>64=<5 DG=>F<< 6=5L=57> 4OE4=<O < 

<<=GF=>7> >5N5<4 >D>6>>5D4M5=<O. 

3. �EE?54>64=<5 4<DDG7<>==>= E?>E>5=>EF< ?57><E ?> <>=>>>E<4G 

G7?5D>44 ?>76>?O5F >>?<G5EF65==> >F5=<FL ?D>F5EE ?5D5=>E4 747>6 G5D57 

4?L65>?OD=>->4?<??OD=GN <5<5D4=G (<?< MDD5>F<6=>EFL FD4=E?>DF4 ><E?>D>44 <7 

4?L65>? 6 >D>6>F>>). 

4. �<?G?LE=4O >EF<??><5FD<O 3 >F5=>4 ?D>E>4<<>EF< 4OE4F5?L=OE ?GF5= 

(��) ?> E4D4>F5D<EF<>5 76G>>6OE >>?554=<= (>EF<??OF<=), >FD465==OE 

4OE4F5?L=O<< ?GFO<< G5?>65>4. 
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&5EF 6-<<=GF=>= E>4L5O 

 %F4=44DF<7<D>64==O= F5EF, =5 FD55GNM<= E?5F<4?L=>7> >5>DG4>64=<O, 

>>F>DO= >FD4645F ?5D5=>E<<>EFL 4>7<D>64==OE =47DG7>>; >F5=<645FEO D4EEF>O=<5, 

?D>=45==>5 ?> ??>E>>= ?>65DE=>EF< 74 6 <<=GF, 4 F4>65 G4EF>F4 E5D45G=OE 

E>>D4M5=<=, 4OE4F5?L=OE 46<65=<= < >>E<75=4F<O. [24]. �<EF4=F<N, ?D>=45==GN 6 

F5G5=<5 6 <<= (the 6-min walk distance), <7<5DONF 6 <5FD4E < ED46=<64NF E 4>?6=O< 

?>>474F5?5< 3 6�WD(i), >>F>DO= 6OG<E?ONF ?> E?5F<4?L=O< D>D<G?4<, 

GG<FO64NM<< 6>7D4EF 6 7>44E, <4EEG F5?4 6 ><?>7D4<<4E, D>EF 6 E4=F<<5FD4E, <=45>E 

<4EEO F5?4 (��&). 
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6. �>7>5=>6?5=<5 74=OF<= E?>DF>< (6>76D4M5=<5 > FD5=<D>6>G=>= < 

E>D56=>64F5?L=>= 45OF5?L=>EF<) ?D< D47?<G=OE 64D<4=F4E F5G5=<O 

>>D>=46<DGE=>= <=D5>F<< 

 

�=>7>>5D47<5 >?<=<G5E>>= E<<?F><4F<><, >FEGFEF6<5 F5E=OE 4EE>F<4F<= 

<564G FO65EFLN ?5D5=5E5==>= <=D5>F<< < D476<F<5< >E?>6=5=<= 6O7O645F 

>?4E5=<O > 6>7<>6=>EF< 4>?GE>4 E?>DFE<5=>6, ?5D5=5EL<E SARS-CoV-2 <=D5>F<N, 

> 74=OF<O< E?>DF><. � E6O7< E MF<< =5<5F><5 <EE?54>64F5?< D47D45>F4?<, 4 

D>EE<=E><5 444?F<D>64?< 4?7>D<F< ?D<=OF<O D5L5=<= ?> 4>?GE>G E?>DFE<5=>6 > 

74=OF<O< E?>DF>< E GG5F>< F5G5=<O >E=>6=>7> 745>?564=<O, D476<F<O ?=56<>=<< 

</<?< ?>D465=<O E5D45G=>-E>EG4<EF>= E<EF5<O (D<E. 1). 

�4>>??5==O= >?OF > 6>7<>6=>EF< 5>?55 4?<F5?L=>7> F5G5=<O >>D>=>6<DGE=>= 

<=D5>F<<, =4?<G<< ?>EF>>6<4=>7> E<=4D><4, <<5NM57> 64D<455?L=GN >?<=<G5E>GN 

>4DF<=G, 4<>FG5F ?><E> =>6OE 4?7>D<F<>6 > 4>?GE>G > 74=OF<O< E?>DF>< ?<F, 

?5D5=5EL<E SARS-CoV-2 <=D5>F<N. 

  

$<EG=>> 1 3 �?7>D<F< ?D<=OF<O D5L5=<= > 6>76D4M5=<< 6 E?>DF E?>DFE<5=>6, 

?5D5=5EL<E SARS-CoV-2 <=D5>F<N [26, 27] 
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�D><5 F>7>, 6 2022 7>4G 5O?> >?G5?<>>64=> =>6>5 E>7?4E<F5?L=>5 74O6?5=<5 

�<5D<>4=E>>7> >5M5EF64 >4D4<>?>7>6 [25]:  

ï %?>DFE<5=O, G >>F>DOE >FEGFEF6GNF E<<?F><O ?>E?5 <=D<F<D>64=<O 

SARS-CoV-2, <>7GF 65D=GFLEO > FD5=<D>6>4< ?>E?5 3 4=5= >F6>44 >F FD5=<D>6>> 6> 

6D5<O E4<><7>?OF<<. 

ï %?>DFE<5=O E ?57><<< <?< G<5D5==O<< ?57>G=O<< E<<?F><4<< 

?5D5=5E5==>= <=D5>F<< SARS-CoV-2 <>7GF 6>7>5=>6<FL FD5=<D>6>< ?>E?5 

<EG57=>65=<O E<<?F><>6. 

ï  %?>DFE<5=O E 4?<F5?L=>= <=D5>F<5= (g 3 <5EOF4) 557 >4D4<4?L=OE < 

D5E?<D4F>D=OE E<<?F><>6 <>7GF ?D<EFG?<FL > FD5=<D>6>4< 557 ?D>6545=<O 

4>?>?=<F5?L=>7> F5EF<D>64=<O. 

ï  %?>DFE<5=O, 6O74>D46?<64NM<5 >F COVID-19, G >>F>DOE E>ED4=ONFEO 

>4D4<4?L=O5 < D5E?<D4F>D=O5 ?D>O6?5=<O (5>?L/EF5E=5=<5 6 7DG4<, GG4M5==>5 

E5D4F55<5=<5, >5<>D>><), </<?< ?>4>7D<F5?L=O5 =4 ?>D465=<5 E5D4F4 4>?6=O 

?D>=F< «FD<44=>5» F5EF<D>64=<5 (-��, FD>?>=<= < ME>>4D4<>7D4<<4); ?>4>5=>5 

F5EF<D>64=<5 F4>65 E?54G5F ?D>6>4<FL 6 F5E E?GG4OE, >>744 ?>E?5 6>7>5=>6?5=<O 

D<7<G5E><E =47DG7>> 6>7=<>4NF =>6O5 E<<?F><O. 

ï �$& D5>><5=4G5FEO, 5E?< «FD<44=>5» F5EF<D>64=<5 =5 E>>F65FEF6G5F 

=>D<5 <?< E>ED4=ONFEO E5D45G=>-?57>G=O5 E<<?F><O. 

ï  %?>DFE<5=4< E <<>>4D4<F>< E?54G5F 6>745D6<64FLEO >F D<7<G5E><E 

G?D46=5=<= 6 F5G5=<5 336 <5EOF56. 

ï  �47DG7>G=O= F5EF </<?< E>?F5D>6E>>5 <>=<F>D<D>64=<5 <>7GF 5OFL 

?>?57=O ?D< >5E?54>64=<< E?>DFE<5=>6: 1) E> EF>=><<< E5D45G=>-?57>G=O<< 

E<<?F><4<< < 2) E =>D<4?L=O< �$& <?< �$&, 45<>=EFD<DGNM5= <=O5 D>D<O 

?>D465=<O <<>>4D44 (<?< ?5D<>4D44). �D< MF>< =47DG7>G=O= F5EF E?54G5F ?D>6>4<FL 

F>?L>> ?>E?5 <E>?NG5=<O <<>>4D4<F4 ?> 44==O< �$&. 

ï �$& 4?O E>D<=<=74 E?>DFE<5=>6 557 E<<?F><>6 <?< E =5E5D45G=>-?57>G=O<< 

E<<?F><4<<, 65D>OF=>, 5G45F <4?>MDD5>F<6=>=. 

ï �>6F>D=>5 >4D4<>?>7<G5E>>5 F5EF<D>64=<5 =5 FD55G5FEO G E?>DFE<5=>6 E 

D5F<4<6<DGNM<< COVID-19 ?D< >FEGFEF6<< E5D45G=>-?57>G=OE E<<?F><>6. 
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�5E?54>64=<5 =5E>65DL5==>?5F=<E E?>DFE<5=>6 ?>E?5 ?5D5=5E5==>= 

<=D5>F<< COVID-I9 (SARS-CoV-2) 

� >E=>65 3 ?5DE>=4?<7<D>64==O= FD5EMF4?=O= 4?7>D<F< >5E?54>64=<O 

=5E>65DL5==>?5F=<E E?>DFE<5=>6 ?>E?5 ?5D5=5E5==>= <=D5>F<< COVID-I9 (SARS-

CoV-2), ?> D57G?LF4F4< >>F>D>7> 445FEO 74>?NG5=<5 > 6>7<>6=>EF< <E ?>E?54GNM57> 

4>?GE>4 > 74=OF<O< E?>DF><, <?<, >4> 5>?55 ?D<=OF> >5>7=4G4FL MF>F MF4? 6 

?D>D<?L=>= ?<F5D4FGD5, 3 6>76D4M5=<5 6 E?>DF (��%) ($<E. 2). 

 

$<EG=>> 2 3 �?7>D<F< >5E?54>64=<O < 4>?GE>4 (6>76D4M5=<O 6 E?>DF) 

=5E>65DL5==>?5F=<E 6OE>>>?D>D5EE<>=4?L=OE E?>DFE<5=>6, ?5D5=5EL<E 

<=D5>F<N SARS-CoV-2 

�575=44: COVID-19 3 >>D>=46<DGE=4O <=D5>F<O SARS-CoV-2; NT proBNP 3 

=4FD<=GD5F<G5E><= ?5?F<4; �&$ 3 ?>?<@5D47=4O F5?=4O D54>F<O; ��% 3 

6>76D4M5=<5 6 E?>DF; �-� 3 65?>MD7>@5FD<O; �$� 3 >D54F<=D>ED>><=474; ��& 3 

@<>D>6>?LF=4O 4?LF5D=4F<O 7G5F4 &; �$& 3 @47=<F=>-D57>=4=E=4O F>@>7D4D<O 

E5D4F4; &$% 3 FGD5G?5=F=>EFL D<F@4 E5D4F4; %� 3 E>?F5D>6E>>5 
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@>=<F>D<D>64=<5; -�� 3 M?5>FD>>4D4<>7D4D<O; -�� �$ 3 M?5>FD>>4D4<>7D4D<O 

6OE>>>7> D47D5L5=<O; -%��� 3 ME>>4D4<>7D4D<O. 

 

�>E?5 ?>4F65D645=<O ?5D5=5E5==>7> 745>?564=<O D57G?LF4F4<< �&$-F5EF4 =4 

?5D6>< MF4?5 >5E?54>64=<O ?D>6>4<FEO EF4=44DF=>5 '�� (64?>5O, D<7<>4?L=O= 

>E<>FD, -��, -%���, �-�) + F5EF =4 FD>?>=<=. 

�D< >E<>FD5 4>F5=F 45?45FEO =4 EG5N5>F<6=O5 64?>5O (D54><5 G N=OE 

E?>DFE<5=>6): ?>6OL5==GN GF><?O5<>EFL, E5D4F55<5=<5, >4OL>G, E=<65=<5 

E?>DF<6=OE D57G?LF4F>6. �D< D<7<>4?L=>< >E<>FD5 >F5=<645FEO G4EF>F4 4OE4=<O < 

E5D4F55<5=<O, 7D4=<FO E5D4F4, 7?GE>EFL E5D45G=OE F>=>6, LG<O, ?D<7=4>< 

E5D45G=>= =54>EF4F>G=>EF<. %4D4>F5D=O<< 4?O ?5D5=5E5==>= >>D>=46<DGE=>= 

<=D5>F<< SARS-CoV-2 O6?ONFEO =4?<G<5 =4DGL5=<= 6>GE>6OE < >5>=OF5?L=OE 

D5F5?F>D>6.  

�D< >F5=>5 -�� < 65?>MD7><5FD<< 6=<<4=<5 G45?O5FEO =4DGL5=<O< D<F<4 

E5D4F4 < ?D<7=4>4< <5F45>?<G5E><E <7<5=5=<= 6 <<>>4D45 (<7<5=5=<N 

D5?>?OD<74F<<, 7G5F4 &, E57<5=F4 ST, <=F5D64?4 QT). -%��� <>65F ?>>474FL 

>F>?>=5=<O 6 75<>4<=4<<G5E><E < <>DD>?>7<G5E><E ?4D4<5FD4E D45>FO E5D4F4. 

�>6OL5=<5 GD>6=O FD>?>=<=4 6OL5 0,3 =7/<? <>65F E6<45F5?LEF6>64FL >5 

4>F<6=>EF< 6>E?4?<F5?L=>7> ?D>F5EE4.  

�D< >FEGFEF6<< <7<5=5=<= =4 ?5D6>< MF4?5 >5E?54>64=<O 445FEO 4>?GE> > 

E?>DFG. �4?<G<5 >F>?>=5=<= FD55G5F 4>>5E?54>64=<O =4 6F>D>< MF4?5, >>F>DO= 

6>?NG45F 4>?>?=<F5?L=> ?D>6545=<5 E>?F5D>6E>>7> <>=<F>D<D>64=<O E >F5=>>= 

4D<F<<=, D5?>?OD<74F<< 65?G4>G>>6 < 64D<455?L=>EF< D<F<4 E5D4F4 (?>>474F5?L 

SDNN <5=55 100 <E, pNN50 <5=55 15 %) < 65?4F5?L=> <<>D>6>?LF=>= 4?LF5D=4F<< 

7G5F4 & (5>?55 55 <>�), FGD5G?5=F=>EF< D<F<4 E5D4F4 (onset 5>?55 0 % < slope 5>?55 

6 <E/RR). �?D545?5=<5 5<>E<<<G5E><E <4D>5D>6 ?>D465=<O <<>>4D44: ?>6OL5=<5 

GD>6=O >D54F<=D>ED>><=47O (�$� < �$�-��), =4FD<=GD5F<G5E>>7> ?5?F<44 (N&- 

proBNP). �E?< ?4F>?>7<G5E><E <7<5=5=<= =5 6OO6?5=>, 445FEO 4>?GE> > E?>DF<6=O< 

74=OF<O<. �D< <E =4?<G<< =47=4G45FEO ?D>6545=<5 �$& E5D4F4 E >>=FD4EF<D>64=<5< 

744>?<=<5<. �FEGFEF6<5 ?4F>?>7<G5E>>7> =4>>??5=<O >>=FD4EF4 < ?D<7=4>>6 
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?>6D5645=<O <<>>4D44 <E>?NG45F ?>D465=<5 <<>>4D44. �E?< 4DG7<5 6OO6?5==O5 

<7<5=5=<O (=4DGL5=<O D<F<4 E5D4F4, =4DGL5=<O D5?>?OD<74F<< < ?D>G<5) =5 

FD55GNF >F6>44 >F E?>DF4 < ?5G5=<O, 445FEO 4>?GE> > E?>DF<6=O< FD5=<D>6>4<.  

�D< =4?<G<< ?>4F65D645=<O ?>D465=<O <<>>4D44 ?> 44==O< �$& E5D4F4 

6OEF46?O5FEO 4<47=>7: I41.1 3 �<>>4D4<F (65D>OF=>, ?>EF>>6<4=O=) E >?D545?5=<5< 

E4D4>F5D4 F5G5=<O (>EFDO=, ?>4>EFDO=, ED>=<G5E><=) < EF5?5=LN =54>EF4F>G=>EF< 

>D>6>>5D4M5=<O. %>>F65FEF65==> 4<47=>7G =47=4G45FEO >F6>4 >F 74=OF<= E?>DF>< =4 

6 <5EOF56 E =47=4G5=<5< =5>5E>4<<>7> ?5G5=<O.  

'5D57 6 <5EOF56 ?D>6>4<FEO ?>6F>D=>5 >5E?54>64=<5 ?> G>474==><G 4?7>D<F<G 

($<E. 1) E D5L5=<5< 6>?D>E4 > 4>?GE>5 < 6>76D4M5=<< 6 E?>DF.  
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7. �E=>6=O5 4E?5>FO 6>EEF4=>6?5=<O >4D4<>64E>G?OD=>= < 

D5E?<D4F>D=>= DG=>F<< G E>65DL5==>?5F=<E < =5E>65DL5==>?5F=<E 

E?>DFE<5=>6, ?5D5=5EL<E 6<DGE=O5 ?=56<>=<<. �D54?>EO?>< > ?D<<5=5=<N 

E>G5F4==>= <5F>4<>< 6>745=EF6<O 7<?5D>4?=<G5E><< < 7<?>>E<G5E><< 

EF<<G?4<< 

 

�4<5>?55 G4EF> 4<47=>EF<DG5<O<< ?>E?54EF6<O<< ?5D5=5E5==>= COVID-19 

O6?ONFEO D5E?<D4F>D=O5 ?D>O6?5=<O ?>EF>>6<4=>7> E<=4D><4. � G4EF=>EF<, 

GG5=O<< �>D>?56E>>7> >5M5EF64 �>=4>=4 <7GG5=O 44==O5 336652 G5?>65>, 

?5D5=5EL<E COVID-19, < >?D545?5=O 3 >E=>6=OE F<?4 ?>EF>>6<4=>7> E<=4D><4, 4?O 

>4=>7> <7 >>F>DOE E4D4>F5D=O ?D5<<GM5EF65==> D5E?<D4F>D=O5 ?D>O6?5=<O, 

?D5<<GM5EF65==> D5EFD<>F<6=>7> E4D4>F5D4. � >F=>L5=<< 674<<>E6O7< SARS-CoV-

2 < 5D>=E>>5EFDG>F<< 6 ?>EF>>6<4=>< ?5D<>45 6 ?<F5D4FGD5 EGM5EF6GNF 

D47=>7?4E<O, < >4=>7=4G=>7> 6O6>44 E45?4FL ?>>4 =5 ?D54EF46?O5FEO 6>7<>6=O<, F4> 

>4> =4DGL5=<O DG=>F<< 6=5L=57> 4OE4=<O E<?L=> D47?<G4NFEO 6 746<E<<>EF< >F 

?D<<5=O5<OE <5F>4>6 <E 6OO6?5=<O, 6OD465==>EF< ?D>O6?5=<=, ED>>4 ?>E?5 >EFD>= 

D47O 745>?564=<O < <=>7<E 4DG7<E D4>F>D>6. �4=4>> <=>7<<< <EE?54>64F5?O<< 5O?> 

6OO6?5=> E=<65=<5 ?>>474F5?O DLCO, 4 D5EFD<>F<6=O5 =4DGL5=<O 65=F<?OF<< 

(E=<65=<5 ��� < ���) 6OO6?ONFEO G 44==>= >4F57>D<< E?>DFE<5=>6, 6>?NG4O 

=5E>65DL5==>?5F=<E, =5 <5=55 G5< 6 10315 D47 G4M5, G5< >5EFDG>F<6=O5 =4DGL5=<O. 

'G<FO64O 6OL5<7?>65==>5, =4<5>?55 646=O< 4E?5>F>< 6 D545<?<F4F<< 

E?>DFE<5=>6, 6>?NG4O =5E>65DL5==>?5F=<E E?>DFE<5=>6, ?5D5=5EL<E 6<DGE=O5 

?=56<>=<<, O6?O5FEO 6>EEF4=>6?5=<5 4OE4F5?L=>7> >5NU<4 74 EG5F 4>F<64F<< 

4OE4F5?L=>= <GE>G?4FGDO, > >>F>D>= >F=>E<FEO ?D5645 6E57> 4<4DD47<4, 4 F4>65 

<56D555D=O5 <OLFO. -?5>FD>EF<<G?OF<O 4<4DD47<O 3 7?46=>= 4OE4F5?L=>= 

<OLFO, >55E?5G<64NM5= 6 D<7<>?>7<G5E><E GE?>6<OE 465 FD5F< 6<7=5==>= 5<>>EF< 

?57><E, 3 ?D54EF46?O5F E>5>= =4<5>?55 D4E?D>EFD4=5==O= <5F>4 EF<<G?OF<< 

4OE4=<O. �4=4>> MF4 ?D>F54GD4 4<E>><D>DF=4, 4 G4EF> < 5>?57=5==4, >E>55==> G 

45F5=. �D><5 MF>7>, =5>5E>4<<> GG<FO64FL D4>F 6>745=EF6<O =4 ?5D<D5D<G5E><= 

4=4?<74F>D <OL5G=>= 4>F<6=>EF< ?D< M?5>FD>EF<<G?OF<< 4<4DD47<O, GF> O6?O5FEO 
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=5>?F<<4?L=O< GE?>6<5< 4?O 4>F<64F<< MF>= <OLFO, F4> >4> 6 44==>< E?GG45 =5 

7445=EF6>64= F5=FD4?L=O= <5E4=<7< D57G?OF<< 4OE4=<O. 

&4><< >5D47><, =4<5>?55 4>FG4?L=O ?D>F54GDO 6>745=EF6<O (EF<<G?OF<<) 

=5?>ED54EF65==> =4 4OE4F5?L=O= F5=FD, >>F>DO= 6 >F65F =4 D474D465=<5 74?GE>45F 

4>F<64F<N >4> 4<4DD47<O, F4> < <56D555D=OE <OLF, >>F>DO5, O6?OOEL ?> 

?D><EE>645=<N 4GF>EF>==O<<, DG=>F<>=<DGNF D5D?5>F>D=>, ?>4G<=OOEL 

=5?>ED54EF65==> 4OE4F5?L=><G F5=FDG. 

� >4G5EF65 >4=>7> <7 =4<5>?55 ?5DE?5>F<6=OE <5F>4>?>7<G5E><E ?>4E>4>6, 

?D54?>?474NM<E 6>745=EF6<5 =4 4OE4F5?L=O= F5=FD (F5=FD4?L=O= <5E4=<7< 

D57G?OF<<) < 6 <F>75 3 4>F<64F<N 4OE4F5?L=>= <GE>G?4FGDO, D4EE<4FD<645FEO 

?D<<5=5=<5 7<?5D>4?=<G5E>>7> EF<<G?4 (<E?>?L7>64=<5 4>?>?=<F5?L=>7> 

«<5DF6>7>» ?D>EFD4=EF64 ?D< 64>E5 3 ���), >E>55==> 6 E>G5F4=<< E> E=<65=<5< 

?D>F5=F=>7> E>45D64=<O ><E?>D>44 6 E>EF465 64OE45<>= 747>6>= E<5E<. &4>65 

>F<5G45FEO, GF> 4??4D4F=O5 F5E=>?>7<< E>G5F4==>7> ?D<<5=5=<O 7<?5D>4?=<G5E><E 

< 7<?>>E<G5E><E FD5=<D>6>> O6?ONFEO 4>EFG?=O< ED54EF6>< 4>F<64F<< < 

<>5<?<74F<< F5=FD4?L=OE <5E4=<7<>6 D57G?OF<< 4OE4=<O, >F65FEF65==OE 74 

FD4=E?>DF < GF<?<74F<N ><E?>D>44. 

�4==>5 =4?D46?5=<5 >>DD5>F<< D5E?<D4F>D=OE =4DGL5=<= G E?>DFE<5=>6, 6 

F>< G<E?5 =5E>65DL5==>?5F=<E, ?5D5=5EL<E 6<DGE=O5 ?=56<>=<<, <O EG<F45< =5 

F>?L>> 6OE>>>MDD5>F<6=O<, => < D<7<>?>7<G5E>< >5>E=>64==O< <5F>4>< 

6>EEF4=>6?5=<O DG=>F<>=4?L=>7> E>EF>O=<O 4OE4F5?L=OE <OLF, G65?<G5=<O 

4OE4F5?L=>7> >5NU<4 <, >4> E?54EF6<5, G65?<G5=<O ><E?>D>4=>7> >5<5=4 74 EG5F 

4>?>?=<F5?L=>= EF<<G?OF<< 7G<>D4?L=OE <5E4=<7<>6 D57G?OF<< 

>4D4<>64E>G?OD=>= < D5E?<D4F>D=>= E<EF5<. �D><5 F>7>, 5O?< ?D>45<>=EFD<D>64=O 

=5=D>?D>F5>F<6=O5 E6>=EF64 E>G5F4==OE 7<?5D>4?=<G5E><E < 7<?>>E<G5E><E 

6>745=EF6<=, 6 ?5D6GN >G5D54L 74 EG5F 6?<O=<O =4 <<F>E>=4D<4?L=O5 �&$- 

746<E<<O5 >4?<56O5 >4=4?O < �1-D5F5?F>DO > 445=>7<=G, 65D>OF=>EFL 4>EF<65=<O 

MDD5>F>6 =5=D>?D>F5>F<< >E>55==> 7=4G<<4 ?D< ?>EF>>6<4=>< E<=4D><5 [28].  
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8. %4D4>F5D<EF<>4 < >E>55==>EF< ?D<<5=5=<O 

7<?5D>4?=<G5E><E/7<?>>E<G5E><E 747>6OE E<5E5= 6 D545<?<F4F<< E?>DFE<5=>6 

E5>D=OE >><4=4  >EE<=E>>= $545D4F<<, 6 F>< G<E?5 =5E>65DL5==>?5F=<E, 

?5D5=5EL<E 6<DGE=O5 ?=56<>=<< D47?<G=>= ?D<D>4O  

 

8.1. �5>E=>64=<5 ?D<<5=5=<O 7<?5D>4?=<G5E><E/7<?>>E<G5E><E E<5E5= 6 

D545<?<F4F<< E?>DFE<5=>6 E?>DF<6=OE E5>D=OE >><4=4  >EE<=E>>= $545D4F<<  

 

�<?5D>4?=<G5E><= EF<<G? <=4GF<DG5F ?>6OL5=<5 F5=FD4?L=>= 

<=E?<D4F>D=>= 4>F<6=>EF< < E>>F65FEF6GNM55 G65?<G5=<5 ?57>G=>= 65=F<?OF<<. 

�5?D5<5==O< GE?>6<5< MDD5>F<6=>EF< ?57>G=>7> 747>>5<5=4 E?G6<F ?>445D64=<5 

>?F<<4?L=OE 65=F<?OF<>==>-?5DDG7<>==OE >F=>L5=<=, >>F>D>5 >55E?5G<645FEO 

E>?DO65==>= D57G?OF<5= E<EF5< 4OE4=<O, 75<>4<=4<<>< < >D>6<. 

�>4>5=4O EF<<G?OF<O ?>6OL45F 747>>5<5=, G65?<G<645F 6O45?5=<5 %�2 < F5< 

E4<O< E?>E>5EF6G5F 6OD46=<64=<N 55 E>45D64=<O 6 F>4=OE; ?D< MF>< <7<5=5=<O 

>>=F5=FD4F<< G7?5><E?>FO < M>E?>7<F<< <>7GF <=4GF<D>64FL D47?<G=O5 

D<7<>?>7<G5E><5 <5E4=<7<O. 

&<>?<G5E><5 7<?5D>4?=<G5E><5 6>745=EF6<O ?D<6>4OF > D4E>DOF<N 

=5DG=>F<>=<DGNM<E D4=55 >4?<??OD>6, F>744 >4> 7<?>>E<G5E><5 FD5=<D>6>< 6 F>< 

65 D56<<5 6O7O64NF ?D5645 6E57> G65?<G5=<5 4<4<5FD4 >4?<??OD>6. �>>474F5?< 

>5M5= ??>F=>EF< >4?<??OD>6, ?> ED46=5=<N E >>=FD>?L=O<< 7=4G5=<O<<, 

?D4>F<G5E>< =5 <7<5=ONFEO, => ??>F=>EFL DG=>F<>=<DGNM<E >4?<??OD>6 D57>> 

G65?<G<645FEO. 

$44<GE 4<DDG7<< ><E?>D>44 ?D< 7<?5D>4?=<G5E><E FD5=<D>6>4E G>>D4G<645FEO 

5>?LL5, G5< ?D< 7<?>>E<G5E><E, < E?>E>5EF6G5F ?GGL5<G E=4565=<N F>4=5= 

><E?>D>4><. &5>D5F<G5E>< G65?<G5=<5 ><E?>D>4=>7> 45D<F<F4 ?>E?5 4>546?5=<O 

%�2 4>?6=> 5O?> 5O GEG7G5<FL 45=EF6<5 7<?>>E<<; 6 45=EF6<F5?L=>EF< 65 

>F<5G45FEO >5D4F=O= ?D>F5EE, GF> ?D>O6?O5FEO >4> EG5N5>F<6=O<<, F4> < 

>5N5>F<6=O<< 44==O<<. -F>F D4>F <<55F E?54GNM55 >5NOE=5=<5: 4<=4<<G5E>>5 

=45?N45=<5 74 ?>FD55?5=<5< ><E?>D>44 6> 6D5<O < ?>E?5 7<?>>E<<, 557 4>546?5=<O < 
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E 4>546?5=<5< %�2 ?>>474?>, GF> �2 6 6>EEF4=>6<F5?L=>< ?5D<>45 ?>E?5 4>546?5=<O 

6 4OE4F5?L=GN E<5EL %�2 ?>7?>M45FEO <5=LL5, G5< ?D< 7<?>>E<< 557 4>546?5=<O 

46G>><E< G7?5D>44.  

� E6O7< E MF<< =4<5>?55 4>FG4?L=O< O6?O5FEO E>G5F4==>5 6>745=EF6<5 

7<?5D>4?=<G5E><<< < 7<?>>E<G5E><<< EF<<G?4<<. �46=O< <5E4=<7<>< >>DD5>F<< 

DG=>F<>=4?L=>7> E>EF>O=<O 6=5L=57> 4OE4=<O O6?O5FEO D4EE?45?ONM55 6?<O=<5 

?5DE<EF<DGNM5= 7<?>>E<< < 7<?5D>4?=<< =4 F>=GE 7?44><E <OLF E>EG4>6 < 5D>=E>6. 

%?54>64F5?L=>, 6 ?D>F5EE5 444?F4F<< > 7<?>>E<< 6 >D74=<7<5 ?D><EE>4<F DO4 

<7<5=5=<=, =4?D46?5==OE =4 E=<65=<5 F>=GE4 7?44>>= <GE>G?4FGDO; E >4=>= 

EF>D>=O, >=< <>7GF 5OFL E6O74=O E ?>6OL5=<5< D57<EF5=F=>EF< > 7<?>>E<< < 

<5=LL5= 6OD465==>EFLN >><?5=E4F>D=OE D54>F<=, 4 E 4DG7>= 3 O6?OFLEO 

D57G?LF4F>< ?D>4G>F<< < =4>>??5=<O 5<>?>7<G5E>< 4>F<6=OE 65M5EF6, >5?444NM<E 

7<?>F>=<G5E><< 6?<O=<5< =4 7?44>GN <GE>G?4FGDG E>EG4>6 < 5D>=E>6. 

�5>5E>4<<> F4>65 GG5EFL D>?L F4>>7> ?4D4<5FD4 E>G5F4==>7> 6>745=EF6<O 

7<?5D>4?=<G5E>>7> < 7<?>>E<G5E>>7> EF<<G?>6, >4> 4>?>?=<F5?L=>5 «<5DF6>5» 

?D>EFD4=EF6> (���). � >4G5EF65 ��� <E?>?L7GNFEO D47?<G=O5 5<>>EF<, <5L><, 

G5D57 >>F>DO5 E>65DL4NFEO 64>E< < 6O4>E<. �5N5< MF<E 5<>>EF5= <>65F 64DL<D>64FL 

6 ?D545?4E >F 500 4> 2000 <?. �5?4EFL <E?>?L7>64=<O ��� 6 >4G5EF65 

4>?>?=<F5?L=>7> 444?F475==>7> D4>F>D4 4>EF4F>G=> L<D>>4 3 MF> < E?>DF<6=4O 

FD5=<D>6>4, < >?<=<G5E>4O ?D4>F<>4. �?O E>744=<O MDD5>F4 ��� ?D54?474NFEO 

D47?<G=O5 D57G?OF>DO 57> 65=F<?OF<<, GF> ?>76>?O5F 4>7<D>64FL EF5?5=L 7<?>>E<< < 

7<?5D>4?=<<. -DD5>F <5F>44 D54?<7G5FEO 6 E>G5F4=<< G<5D5==>= 7<?>>E<< < 

7<?5D>4?=<<, 4 F4>65 >?D545?5==>= 4>?>?=<F5?L=>= =47DG7>< =4 4OE4F5?L=O5 

<OLFO. �.%. $4DD5?L 6?5D6O5 >5D4F<? 6=<<4=<5 =4 6>7<>6=>EFL ?D<<5=5=<O ��� 

6> 6D5<O <OL5G=>= D45>FO, EG<F4O, GF> <5F>4 6>745=EF6<O =4 >D74=<7< G5D57 

4OE4F5?L=GN E<EF5<G E ?><>MLN ��� O6?O5FEO =4<5>?55 ?D>EFO< < 4>EFG?=O<, 

?>76>?ONM<< 4>7<D>64==> G65?<G<64FL <=F5=E<6=>EFL D5E?<D4F>D=>= FD5=<D>6>< < 

6 F> 65 6D5<O 6O?>?=OFL D47?<G=O5 D<7<G5E><5 G?D46=5=<O. 
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8.2. �OE4F5?L=O5 FD5=465DO 4?O 7<?5D>4?=<G5E><E/7<?>>E<G5E><E 

FD5=<D>6>> 

 

� <<D>6>= ?<F5D4FGD5 <>6=> =4=F< <=D>D<4F<N > E?54GNM<E FD5=465D4E E 

7<?5D>4?=<G5E><</ 7<?>>E<G5E><< 6>745=EF6<5<: 

1. �OE4F5?L=O= FD5=465D «%a<>74Da6», ?D< <E?>?L7>64=<< >>F>D>7> 6 

F5G5=<5 20 <<=GF 6 >D>6< ?>4=<<45FEO >>=F5=FD4F<O G7?5><E?>7> 7474. �D< MF>< 

4OE4F5?L=O= F5=FD (�&) 444?F<DG5FEO > ?>6OL5==><G GD>6=N 46G>><E< G7?5D>44, 

F> 5EFL ?D><EE>4<F FD5=<D>6>4 4OE4F5?L=>7> F5=FD4. � F5G5=<5 =5E>>?L><E <5EOF56 

D45>FO =4 FD5=465D5 <5=O5FEO ?4FF5D= 4OE4=<O, F> 5EFL ?D><EE>4<F 5EF5EF65==4O 

444?F4F<O (6 F. G. 46F>=><<74F<O D45>FO) 4OE4F5?L=>7> F5=FD4 > =>D<4?L=><G (6 %) 

GD>6=N %�2 6 >D>6< 6 E6O7< E ??46=O< E=<65=<5< <=F5=E<6=>EF< 4OE4=<O [29]. 

2. �OE4F5?L=O= FD5=465D ?D>D5EE>D4 �.�. �G?<>>64 «�aD5>=<>» E 

6>7<>6=>EFLN <=74?OF<>==>7> 66545=<O ?5>4DEF6, 4>7<D>64=<O < <7<5D5=<= 

7<?>>E<< < 7<?5D>4?=<<, 4 F4>65 D57G?<D>64=<O ?> >5D4F=>= E6O7< 7444==OE 

?D>7D4<< FD5=<D>6>>; >MGF<<O5 D57G?LF4FO <>7GF 5OFL 4>EF<7=GFO E?GEFO 2 =545?< 

FD5=<D>6>> =4 44==>< FD5=465D5 [30]. 

3. �<?>>E<>aF>D (4??4D4F 7>D=>7> 6>74GE4) 45FE><= «�5DL<=>a», 

D4EEG<F4==O= =4 <5=LL<= >5NU< 64>E4 < E>45D64M<= <5=LL5 E>D55=F4. 

�<?>>E<>aF>D D4EEG<F4= =4 >4<= >GDE ?5G5=<O 3 4> 30 <<=GF 6 45=L 6 F5G5=<5 233 

=545?L. -DD5>F E>ED4=O5FEO 6 F5G5=<5 6312 <5EOF56 [31]. 

4. �OE4F5?L=O= FD5=465D O2IN, MDD5>FO >>F>D>7> >D<5=F<D>64=O =4 

6>EEF4=>6?5=<5 ?>E?5 >>D>=a6<DGE=>= <=D5>F<< < <=OE E57>==OE ?D>EFG4=OE 

745>?564=<=, ?D< ED>=<G5E>>= >5EFDG>F<6=>= 5>?57=< ?57><E (%���), 4EF<5, =4 

?D>D<?4>F<>G 745>?564=<= ?57><E, 4 F4>65 =4 ?>6OL5=<5 MDD5>F<6=>EF< 74=OF<= 

E?>DF>< (?D< E>6<5EF=>< ?D<<5=5=<< E 46<74F5?L=O<< =47DG7>4<<). &D5=465D 

E>7445F E>?D>F<6?5=<5 =4 6O4>E5, >>F>D>5 ?D5>4>?564NF 4OE4F5?L=O5 <OLFO. 

�D><EE>4<F 7<?5D>4?=<G5E>4O/7<?>>E<G5E>4O FD5=<D>6>4: G65?<G5=<5 >>=F5=FD4F<< 

G7?5><E?>FO < E=<65=<5 >>=F5=FD4F<< ><E?>D>44 6 >D74=<7<5 [32]. 
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5. �OE4F5?L=O= FD5=465D Philips Respironics Threshold IMT E 

E>?D>F<6?5=<5< ?>F>>G ?D< 6O4>E5, GF> E>7445F ?>?>6<F5?L=>5 446?5=<5, >>F>D>5 

?D<6>4<F > D4EL<D5=<N 4OE4F5?L=OE ?GF5= < 5>?55 ?57>><G >FE>645=<N E5>D5F4 

[33]. 

6. �OE4F5?L=O= FD5=465D SpiroTiger, ?D54=47=4G5==O= 6 5>?LL5= EF5?5=< 

4?O ?D<<5=5=<O E?>DF<6=O< E>>5M5EF6><, >4> ?N5<F5?5=, F4> < ?D>D5EE<>=4?>6. 

'EFD>=EF6> FD5=<DG5F ?D4>F<G5E>< 6E5 <OLFO, GG4EF6GNM<5 6 4>F5 4OE4=<O (7?>F>< 

< 7>DF4=<, 6<6>F4, a F4>65 7DG4=O5 < <56D555D=O5, <OLFO E?<=O < 4<4DD47<O). � 

>?<=<G5E>>= ?D4>F<>5 Spiro Tiger ?D>45<>=EFD<D>64? E6>N MDD5>F<6=>EFL 6 ?5G5=<< 

4EF<O, 4OE4F5?L=>= =54>EF4F>G=>EF<, 4 F4>65 4DG7<E 4OE4F5?L=OE 745>?564=<=; 

44==O= FD5=465D 6>?NG5= 6 ?5D5G5=L D5>><5=4>64==>7> >5>DG4>64=<O 4?O ?5G5=<O 

< ?D>D<?4>F<>< ?=56<>=<<, 6O764==>= >>D>=a6<DGE=>= <=D5>F<5= (COVID-19) [13]. 

 

8.3. �E>55==>EF< DG=>F<>=<D>64=<O < ?4D4<5FDO 4OE4F5?L=>7> 

7<?5D>4?=<G5E>>7>/7<?>>E<G5E>>7> FD5=465D4 =4 ?D<<5D5 4??4D4F4 Spiro Tiger 

 

�5M<= 6<4 FD5=465D4 ?D54EF46?5= =4 D<EG=>5 3. 

�=4G<<O5 >E>55==>EF<: 

 1. �5?D5DO6=4O, D<F<<G=4O, DG=>F<>=4?L=4O F5D4?<O, F. 5. E>>F65FEF6GNM4O 

D<7<>?>7<G5E><< >E>55==>EFO< 64>E4 < 6O4>E4, <E G4EF>F5; 

 2. �<=<<4?L=>5 E>?D>F<6?5=<5 6>74GE>?D>6>4OM<E 45F4?5=, 4OE4F5?L=>7> 

<5L>4 < >?4?4=4; 4?O ?D54>F6D4M5=<O ?>6D5645=<O 4OE4F5?L=OE ?GF5= ?D< 

<54<F<=E>>< ?D<<5=5=<< E>7445FEO <<=<<4?L=>5 =5>5E>4<<>5 E>?D>F<6?5=<5 ?D< 

6O4>E5 (PEP). 

$57G?<DG5<O5 ?4D4<5FDO FD5=465D4: 

" '4EF>F4 4OE4=<O < >F>?>=5=<O >F =5>5E>4<<>= 7?G5<=O 4OE4=<O 6 

D54?L=>< 6D5<5=<; 

" �>=<F>D<=7 G4EF>FO < 7?G5<=O 4OE4=<O >464>7> 674>E4; 

" �?<F5?L=>EFL FD5=<D>6><: 1399 <<=; 

" '4EF>F4 4OE4=<O: 0 / 15360 <<=-1; 
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" �?<F5?L=>EFL F<>?4 (In/Out): 1/1.0. 

 

 

 

$<EG=>> 3 3 �=5L=<= 6<4 7<?5D>4?=<G5E>>7> FD5=465D4 Spiro Tiger 

 

8.4. �5F>4<>4 E>G5F4==>7> 6>745=EF6<O 7<?5D>4?=<G5E><< < 

7<?>>E<G5E><< EF<<G?4<< G E>65DL5==>?5F=<E E?>DFE<5=>6 

 

�>>474=<O > ?D>6545=<N <5F>4<><: 

ï 4=4<=5EF<G5E><5 G>474=<O =4 ?5D5=5E5==GN 6<DGE=GN ?=56<>=<N 6 

F5G5=<5 30 ?>E?54=<E 4=5=;  

ï E=<65=<5 >EF4F>G=>7> 4OE4F5?L=>7> >5NU<4 =<65 2,8 ?; 

ï =4?<G<5 ?>EF>O==OE EG5N5>F<6=OE ?D<7=4>>6: 5OEFD>= GF><?O5<>EF<, 

>4OL>< ?D< <=F5=E<6=>= E>4L55; 

ï =56>7<>6=>EFL ?D>6545=<O >><??5>E=>7> >GDE4 FD44<F<>==>7> 

6>EEF4=>6<F5?L=>7> ?5G5=<O. 

�D>F<6>?>>474=<O > ?D>6545=<N <5F>4<><: 

ï >5M4O 7<?5DF5D<<O; 

ï 4??5D7<G5E><5 D54>F<< =4 >><??5>FGNM<5 4??4D4F4. 
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� F5?>< E>G5F4==4O <5F>4<>4 ?D<<5=5=<O 6 >>=F<=75=F5 E>65DL5==>?5F=<E 

E?>DFE<5=>6 6>?NG45F: 

�) �5N5< ���: ?5D6O5 5 ?D>F54GD 50031000 <?, 4> 10 ?D>F54GDO 3 1500 <?, 

74F5< 3 >F 1500 4> 2000 <?; 

�) %>45D64=<5 <>4<D<F<DG5<OE >><?>=5=F>6 747>6>= E<5E<: 4?O FD5=<D>6>> 

E<EF5<O 4OE4=<O < >D>6>>5D4M5=<O 3 %�2 6 E>45 ?5D6>= ?D>F54GDO >F 434,5 >5. % 

4> 738 %, �2 E>>F65FEF65==> >F 14315 % 4> 10311 % (6 746<E<<>EF< >F 6OD465==>EF< 

?D>O6?5=<= ?>EF>>6<4=>7> E<=4D><4); 

�) �4=<<< <7 >E=>6=OE >D<F5D<56, >?D545?ONM<E 6>7<>6=>EFL G65?<G5=<O 

E>45D64=<O %�2 6 747>6>= E<5E< 6> 6D5<O ?D>6545=<O >GDE4 E>G5F4==>7> 6>745=EF6<O 

7<?5D>4?=<G5E><< < 7<?>>E<G5E><< EF<<G?4<<, O6?ONFEO ?>>474F5?< �� < '%%. 

&>=><5FD<N < ?G?LE><5FD<N ?D>6>4OF 4> < ?>E?5 >464>= ?D>F54GDO. �E?< D47=>EFL 

?>>474F5?5= E<EF>?<G5E>>7> </<?< 4<4EF>?<G5E>>7> 446?5=<O =5 ?D56OL45F 5 %, 4 

?G?LE4 3 <5=55 9310 %, F> ?D< E?54GNM5= ?D>F54GD5 GD>65=L %�2 ?>6OL4NF =4 0,5 

% (E GG5F>< F5E=<G5E><E GE?>6<= E>744=<O ��� FD5=465D><), 4 GD>65=L �2 

G<5=LL4NF =4 1 % (?D< F5E=<G5E>>= 6>7<>6=>EF< 44==>= DG=>F<< 4OE4F5?L=>7> 

FD5=465D4); 

�) �D5<O ?D>F54GDO: ?5D6O5 537 ?D>F54GD 15 <<=GF, 74F5< 3 20 <<=GF; 

�) �>?<G5EF6> ?D>F54GD: 12314; 

�) �>=<F>D<=7: >F5=>4 E4FGD4F<< 3 GD>65=L =5 <5=55 78 % 6> 6D5<O < ?>E?5 

?D>F54GDO; E?<D><5FD<O 3 ?>E?5 >464>= 4-= <?< 5-= ?D>F54GDO (6 E?GG45 

6OD465==>= >?<=<G5E>>= E<<?F><4F<>< =4 <><5=F =4G4?4 ?D<<5=5=<O 

7<?5D>4?=<G5E><E < 7<?>>E<G5E><E EF<<G?>6 ?>>474=> <E?>?L7>64=<5 F5EF4 

L5EF<<<=GF=>= E>4L5O 3 ?>E?5 >464>= 5-= ?D>F54GDO). 

� F45?<F5 1 ?D54EF46?5= ?D<<5D F>7>, >4> 65EF< <=4<6<4G4?L=O= 

E?<D><5FD<G5E><= <>=<F>D<=7 =4<5>?55 7=4G<<OE E?<D><5FD<G5E><E ?4D4<5FD>6 6> 

6D5<O ?D>6545=<O >GDE4 7<?5D>4?=<G5E><E/7<?>>E<G5E><E FD5=<D>6>>. 
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&45?<F4 1 3 $57G?LF4FO <=4<6<4G4?L=>7> E?<D><5FD<G5E>>7> <>=<F>D<=74 >GDE4 

4OE4F5?L=>= FD5=<D>6>< E <E?>?L7>64=<5< FD5=465D4 Spiro Tiger 

  

8.5. �E>55==>EF< ?>4E>4>6 > ?D<<5=5=<N 7<?5D>4?=<G5E><E < 

7<?>>E<G5E><E EF<<G?>6 G 45F5= 

 

&D5=<D>6>< E 7<?5D>4?=<5=/7<?>>E<5= =4E>4OF 6E5 5>?55 L<D>>>5 ?D<<5=5=<5 

6 =5<54<>4<5=F>7=>= ?D>D<?4>F<>5 < D545<?<F4F<< 6 >>=F<=75=F5 

=5E>65DL5==>?5F=<E, ?5D5=5EL<E 6 F>< G<E?5 6<DGE=O5 ?=56<>=<<. 

->E?5D<<5=F4?L=> < >?<=<G5E>< 4>>474=>, GF>  ?>6F>DONM<5EO M?<7>4O  7<?>>E<< < 

?>E?54GNM5= D5>>E<75=4F<< 74?GE>4NF >4E>44O 75<4F>?>7<G5E><E (?>6OL5=<5 

E>45D64=<O MD<FD>?>MF<=4, 75<>7?>5<=4, ><E?>D>4=>= 5<>>EF< >D>6<) < 

=575<4F>?>7<G5E><E (4=7<>75=57, 4>F<64F<O 7?<>>?<F<G5E>>= 4>F<6=>EF<, 

GF<?<74F<< ?<?<4>6, E<EF5<O 4=F<>>E<44=F=>= 74M<FO, <=7<5<D>64=<5 4?>?F>74, 

�4D4<5FDO 1-= 45=L 5-= 45=L 10-= 45=L 

�> 

?@>F54G@O 
�>E?5 �> 

?@>F54G@O 
�>E?5 �> 

?@>F54G@O 
�>E?5 

�<7=5==4O 

U<>>EFL ?57><E 

(�) FVC 

 

3,3 

 

 

3,5 

 

 

3,5 

 

 

3,7 

 

 

4,2 

 

 

4,5 

 

�EF4F>G=O= 

4OE4F5?L=O= 

>5NU< (�) FEV 

 

2,8 

 

 

2,9 

 

 

3,0 

 

 

3,3 

 

 

3,5 

 

 

3,7 

 

�5NU<=4O 

?<>>64O E>>D>EFL 

64>E4 (�/E) PIF 

 

5,33 

 

 

5,35 

 

 

5,45 

 

5,52 

 

 

6,10 

 

 

6,35 

 

�5NU<=4O 

?<>>64O E>>D>EFL 

6O4>E4 (�/E) P�F 

 

5,27 

 

 

5,32 

 

 

5,40 

 

 

5,61 

 

 

6,12 

 

 

6,32 

 



40 

 

?>6OL5=<5 5GD5D=>= 5<>>EF< <OLF, 5<>M=5D75F<G5E>>= MDD5>F<6=>EF< 

<<F>E>=4D<4?L=>= 4OE4F5?L=>= F5?<, E5<>D5F5?F>D=>= GG6EF6<F5?L=>EF<, 

E=<65=<5 E<<?4F<>>-44D5=4?>6>= D54>F<6=>EF< < 4D.) <5E4=<7<>6. 

�D< D>D<<D>64=<< ?D<<5=O5<OE 6 ?D4>F<G5E>>= G4EF< <EE?54>64=<O 

<5F>4<G5E><E ?>4E>4>6 5O?< GGF5=O D57G?LF4FO =4<5>?55 7=4G<<OE <EE?54>64=<=, 

D54?<7>64==OE 6 =4L5= EFD4=5 ?> ?D>5?5<4F<>5 7<?5D>4?=<G5E><E < 7<?>>E<G5E><E 

EF<<G?>6 G 45F5= =4GG=O<< 7DG??4<< ?>4 DG>>6>4EF6>< �.%. �?47OG564 (E>744=<5 

?D>F>>>?4 >F5=>< MDD5>F<6=>EF<), 4 F4>65 �.�. �74464=O=4 < �.�. �6>5=>E>64 

(<7GG5=<5 MDD5>F>6) [34, 35].  

�.%. �?47OG56 < E>46F>DO ?D54?D<=O?< F4>65 ?>?OF>G 6O45?5=<O GEF>=G<6OE 

F<?>6 (D5=>F<?>6) D54>F<< ?>4D>EF>>6 =4 4>7<D>64==>5 6>745=EF6<5 

7<?5D>4?=<G5E><< < 7<?>>E<G5E><< EF<<G?4<<. �E=>6=O<< >D<F5D<O<< >F5=>< 

5O?< <=4<6<4G4?L=O5 7=4G5=<O 7<?>>E<G5E>>7> <=45>E4, 4?<F5?L=>EFL 45E4FGD4F<< 

4> GEF4=>6?5==>7> ?>D>74, 4 F4>65 EF5?5=L ?D<D>EF4 '%% ?> ED46=5=<N E <EE>4=O<< 

65?<G<=4<<. �4 >E=>64=<< MF<E ?>>474F5?5= 6O45?5=O FD< >4=>D>4=O5 7DG??O 

?>4D>EF>>6 3 E =<7><< GD>6=5< GEF>=G<6>EF< > 7<?>>E<<, 4 F4>65 E> ED54=<< < 

6OE>><< GD>6=O<<. $57G?LF4FO <EE?54>64=<O ?D54EF46?5=O 6 F45?<F5 2 [34]. 

�5M<< FD5=4>< <7<5=5=<= 75<>4<=4<<G5E><E ?>>474F5?5= 6> 6E5E FD5E 

7DG??4E O6?O5FEO 7=4G<<O= ?D<D>EF '%%, <4>E<<4?L=> 6OD465==O= 6 7DG??5 E 

=<7>>= GEF>=G<6>EFLN > 7<?>>E<<, 4 F4>65 <<=<<4?L=4O 4<=4<<>4 E<EF>?<G5E>>7> < 

4<4EF>?<G5E>>7> 4DF5D<4?L=>7> 446?5=<O (4>EF>65D=>5 E=<65=<5 %�� F>?L>> 6 

7DG??5 E 6OE>><< GD>6=5< GEF>=G<6>EF< > 7<?>>E<<). �G56<4=>, GF> 45FO< E =<7>>= 

GEF>=G<6>EFLN > 7<?>>E<< =4 =4G4?L=OE MF4?4E >GDE>6OE 6>745=EF6<= E?54G5F 

??4=<D>64FL EFDG>FGDG ?D>F54GD E <5=LL5= <=F5=E<6=>EFLN 7<?>>E<G5E><E 

EF<<G?>6 3 12314 % �2 6 F5G5=<5 =5E>>?L><E 4=5=, 4 74F5< ?>4 >>=FD>?5< D57G?LF4F>6 

?>6F>D=>7> 7<?>>E<G5E>>7> F5EF4 ?5D5E>4<FL =4 5>?55 <=F5=E<6=O5 EF<<G?O [35].  

' ?>4D>EF>>6 E <EE>4=> 6OE>>>= 7<?>>E<G5E>>= GEF>=G<6>EFLN 4>?GEF<<> 

=47=4G5=<5 5>?55 «65EF><E» D56<<>6 <=F5D64?L=OE 7<?>>E<G5E><E FD5=<D>6>>, 

?>E>>?L>G ?>6F>D=O5 >D4F>>6D5<5==O5 M?<7>4O =>D<>54D<G5E>>= 7<?>>E<< =<7>>= 

<=F5=E<6=>EF< G F4><E EG5N5>F>6 <>7GF 5OFL 45E>?NF=> =5MDD5>F<6=O. 
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&45?<F4 2 3 %D54=57DG??>6O5 7=4G5=<O <=4<>4F>D>6 ?5D5=>E<<>EF< 

=>D<>54D<G5E>>= 7<?>>E<< 6 4<=4<<>5 7<?>>E<G5E>>7> F5EF4 (M ± ·) (�.%. �?47OG56 

< E>46F.) [34] 

�>>474F5?< �DG??4 �'� �DG??4 %'� �DG??4 �'� 

SpO2 <<=, % 82,0 ± 2,9 81,7 ± 3,0 82,0 ± 2,9 

 

�@5<O 45E4FG@4F<<, E 

 

121 ± 30,2 

 

243,5 ± 138 (p = 0,05)* 
382 ± 134 (p = 0,01)* (p = 

0,01)** 

�@5<O @5>>E<75=4F<<, E 61,0 ± 26,0 52,7 ± 30,5 38,2 ± 21,2 (p = 0,01)** 

 

�<?>>E<G5E><= <=45>E 

 

2,14 ± 0,66 

 

4,34 ± 1,15 (p = 0,02)* 
9,63 ± 2,12 (p = 0,01)* (p = 

0,01)** 

'%% 4> �&, G4/<<= 82,1 ± 7,4 80,9 ± 12,6 80,3 ± 9,0 

 

'%% <4>E., G4/<<= 

113,5 ± 10,3 (p = 

0,007)# 
109,5 ± 13,8 (p = 

0,001)# 
109,0 ± 10,8 (p = 0,06)* 

(p=0,003)# 

%�� 4> �&, << @F.EF. 105 ± 5,0 109,0 ± 11,1 115,5 ± 9,5 (p = 0,07)* 

%�� ?>E?5 �&, << @F.EF. 101,1 ± 6,7 108 ± 14,8 107,0 ± 13 (p = 0,04)# 

��� 4> �&, << @F.EF. 63,3 ± 7,3 69,7 ± 8,7 73,7 ± 9,6 (p = 0,06)* 

��� ?>E?5 �&, << @F.EF. 63,7 ± 9,2 67,2 ± 12,8 74,0 ± 9,6 

�D<@5G4=<5. �'� 3 =<7>4O GEF>=G<6>EFL > 7<?>>E<<; %'� 3 ED54=OO 

GEF>=G<6>EFL > 7<?>>E<<; �'� 3 6OE>>4O GEF>=G<6>EFL > 7<?>>E<<; '%% 3 G4EF>F4 

E>>D4M5=<= E5D4F4; �& 3 7<?>>E<G5E><= F5EF; %�� 3 E<EF>?<G5E>>5 4DF5D<4?L=>5 

446?5=<5; ��� 3 4<4EF>?<G5E>>5 4DF5D<4?L=>5 446?5=<5. * 3 ?> >F=>L5=<N > 44==O< 

7DG??O �'�; ** 3 <564G 7DG??4<< %'� < �'�; # 3 <564G 44==O<< 4> < ?>E?5 

7<?>>E<G5E>>7> F5EF4 6 >4=>= 7DG??5. 

 

�.�. �74464=O= < E>46F>DO, ?> 44==O< ED46=<F5?L=>7> <EE?54>64=<O 

7<?>>E<G5E>>7>/7<?5D>4?=<G5E>>7> F5EF4 G 45F5= < 67D>E?OE, GF65D644NF, GF> 

=4D4EF4NM<5 GE?>6<O 7<?>>E<< < 7<?5D>4?=<< 6O7O64?< G7=5F5=<5 747>>5<5=4, 6 

5>?LL5= EF5?5=< 6OD465==>5 6 7DG??4E N=OE E?>DFE<5=>6. �<E?>D>4=O5 D56<<O 

>D74=<7<4 ?>4D>EF>>6 6 MF<E GE?>6<OE E4D4>F5D<7GNFEO <5=LL5= M>>=><<G=>EFLN < 

MDD5>F<6=>EFLN < 5>?LL5= «D<7<>?>7<G5E>>= F5=>=» 444?F4F<< ?> ED46=5=<N E> 

67D>E?O<<, >D<F5D<5< >F5=>< >>F>D>= <>65F 6OEFG?4FL �-�$%-�2. �>?LL4O 
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GEF>=G<6>EFL >4D4<>64E>G?OD=>= < D5E?<D4F>D=>= E<EF5< > 6>745=EF6<N <7<5=5==>= 

747>6>= ED54O G 67D>E?OE E?>DFE<5=>6 >55E?5G<645FEO >4> 74 EG5F GF<?<74F<< �2, F4> 

< ?>445D64=<5< =5>5E>4<<>7> GD>6=O >D>6>F>>4. �> <F>74< E6>57> <EE?54>64=<O, 

�.�. �74464=O= < E>46F. E>G?< =5F5?5E>>5D47=O< <E?>?L7>64=<5 E>G5F4==OE 

7<?5D>4?=<G5E><E < 7<?>>E<G5E><E 747>6OE E<5E5= E E>45D64=<5< %�2 5>?55 434,5 

>5. % < �2 <5=55 14315 %. �O 6 =4L5= D45>F5 >D<5=F<D>64?<EL <<5==> =4 MF< 

G>474=<O ?> 4>7<D>64=<N �2 < %�2 6 747>6OE E<5EOE ?D< 6O?>?=5=<< E>G5F4==OE 

7<?5D>4?=<G5E><E/7<?>>E<G5E><E FD5=<D>6>> [35]. 

 

8.6. �5F>4<>4 E>G5F4==>7> 6>745=EF6<O 7<?5D>4?=<G5E><< < 

7<?>>E<G5E><< EF<<G?4<< G =5E>65DL5==>?5F=<E E?>DFE<5=>6 

 

�>>474=<O > ?D>6545=<N <5F>4<><: 

ï 4=4<=5EF<G5E><5 G>474=<O =4 ?5D5=5E5==GN 6<DGE=GN ?=56<>=<N 6 

F5G5=<5 30 ?>E?54=<E 4=5=;  

ï E=<65=<5, >F=>E<F5?L=> 6>7D4EF=OE =>D<4F<6>6, >EF4F>G=>7> 

4OE4F5?L=>7> >5NU<4 =4 20 % < 5>?55 3 ?D< GE?>6<< =4?<G<O 44==OE, ?>?GG5==OE 4> 

=4G4?4 745>?564=<O; 

ï =4?<G<5 ?>EF>O==OE EG5N5>F<6=OE ?D<7=4>>6: 5OEFD>= GF><?O5<>EF<, 

>4OL>< ?D< <=F5=E<6=>= E>4L55; 

ï =56>7<>6=>EFL ?D>6545=<O >><??5>E=>7> >GDE4 FD44<F<>==>7> 

6>EEF4=>6<F5?L=>7> ?5G5=<O. 

�D>F<6>?>>474=<O > ?D>6545=<N <5F>4<><: 

ï >5M4O 7<?5DF5D<<O; 

ï >EFDO5 E><4F<G5E><5 < <=D5>F<>==O5 745>?564=<O, ED>=<G5E><5 

745>?564=<O 6 EF44<< >5>EFD5=<O/D5F<4<64 </<?< 45>><?5=E4F<<; 

ï 4OE4F5?L=4O =54>EF4F>G=>EFL 3 EF5?5=<, E>?D>6>644NM4OEO 

7<?>>E5<<5= < 7<?5D>4?=<5=; 

ï 6D>645==O5 4=><4?<< E5D4F4 < >DG?=OE E>EG4>6, 6OD465==>5 

?>6OL5=<5 4DF5D<4?L=>7> 446?5=<O; 
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ï ?57>G=O5 >D>6>F5G5=<O; 

ï <=4<6<4G4?L=4O =5?5D5=>E<<>EFL =54>EF4F>4 ><E?>D>44 < <75OF>4 

G7?5><E?>7> 7474; 

ï 4??5D7<G5E><5 D54>F<< =4 >><??5>FGNM<5 4??4D4F4. 

� F5?>< E>G5F4==4O <5F>4<>4 ?D<<5=5=<O 6 >>=F<=75=F5 =5E>65DL5==>?5F=<E 

E?>DFE<5=>6 6>?NG45F: 

�) �5N5< ���: ?5D6O5 5 ?D>F54GD 5003700 <?, E G65?<G5=<5< 74 233 

?D>F54GDO 4> 70031000 <? < ?D>4>?65=<5< 6 G>474==>< >5N5<5 4> 10312 ?D>F54GD; 

�) %>45D64=<5 <>4<D<F<DG5<OE >><?>=5=F>6 747>6>= E<5E<: 4?O FD5=<D>6>> 

E<EF5<O 4OE4=<O < >D>6>>5D4M5=<O 3 %�2 6 E>45 ?5D6>= ?D>F54GDO >F 233 >5. % 4> 

5 % ?D< ?>E?54GNM<E ?D>F54GD4E, �2 E>>F65FEF65==> >F 20 >5. % 4> 14315 >5. % (6 

746<E<<>EF< >F 6OD465==>EF< ?D>O6?5=<= ?>EF>>6<4=>7> E<=4D><4); 

�) �4=<<< <7 >E=>6=OE >D<F5D<56, >?D545?ONM<E 6>7<>6=>EFL G65?<G5=<O 

E>45D64=<O %�2 6 747>6>= E<5E< 6> 6D5<O ?D>6545=<O >GDE4 E>G5F4==>7> 6>745=EF6<O 

7<?5D>4?=<G5E><< < 7<?>>E<G5E><< EF<<G?4<<, O6?ONFEO ?>>474F5?< �� < '%%. 

&>=><5FD<N < ?G?LE><5FD<N ?D>6>4OF 4> < ?>E?5 >464>= ?D>F54GDO. �E?< D47=>EFL 

?>>474F5?5= E<EF>?<G5E>>7> </<?< 4<4EF>?<G5E>>7> 446?5=<O =5 ?D56OL45F 3 %, 4 

D47=>EFL ?>>474F5?5= ?G?LE4 <5=55 537 %, F> ?D< E?54GNM5= ?D>F54GD5 GD>65=L %�2 

?>6OL4NF =4 0,3 % (E GG5F>< F5E=<G5E><E GE?>6<= E>744=<O ��� FD5=465D><), 4 

GD>65=L �2 G<5=LL4NF =4 0,5 % (?D< F5E=<G5E>>= 6>7<>6=>EF< 44==>= DG=>F<< 

4OE4F5?L=>7> FD5=465D4); 

�) �D5<O ?D>F54GDO: ?5D6O5 536 ?D>F54GD 5 <<=GF, 74F5< 3 10312 <<=GF; 

�) �>?<G5EF6> ?D>F54GD: 10312; 

�) �>=<F>D<=7: >F5=>4 E4FGD4F<< 3 GD>65=L =5 <5=55 85 % 6> 6D5<O < ?>E?5 

?D>F54GDO; E?<D><5FD<O 3 ?>E?5 >464>= 4-= <?< 5-= ?D>F54GDO (6 E?GG45 

6OD465==>= >?<=<G5E>>= E<<?F><4F<>< =4 <><5=F =4G4?4 ?D<<5=5=<O 

7<?5D>4?=<G5E><E < 7<?>>E<G5E><E EF<<G?>6 ?>>474=> <E?>?L7>64=<5 F5EF4 

L5EF<<<=GF=>= E>4L5O 3 ?>E?5 >464>= 5-= ?D>F54GDO). 
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�4>?NG5=<5 

 

�>E>>?L>G >5M4O < E?5F<4?L=4O 6O=>E?<6>EFL E?>DFE<5=>6 6> <=>7>< 

>?D545?ONFEO F5>GM<<< DG=>F<>=4?L=O<< 6>7<>6=>EFO<< D5E?<D4F>D=>= E<EF5<O, 

F> >E>5GN 4>FG4?L=>EFL 6 E>6D5<5==>< E?>DF5 6OEL<E 4>EF<65=<= (6>?NG4O E?>DF 

=5E>65DL5==>?5F=<E) ?D<>5D5F45F <5F>4>?>7<O 6>EEF4=>6?5=<O ?>E?5 ?5D5=5E5==OE 

745>?564=<= >D74=>6 4OE4=<O, 6 F>< G<E?5 ?>E?5 COVID-19 < ?=56<>=<= D47?<G=>7> 

75=574. � <<5==> MDD5>F<6=O5 F5E=>?>7<< 6>EEF4=>6?5=<O DG=>F<< ?>76>?ONF 

>55E?5G<64FL 6>7<>6=>EFL 557>?4E=>7> 6>7>5=>6?5=<O FD5=<D>6>G=>= 4>F<6=>EF< 6 

>D4FG4=L<5 ED>><. 

$<7<>?>7<G5E>< >5>E=>64==4O <5F>4<>4 E>G5F4==>7> <E?>?L7>64=<O 747>6OE 

E<5E5= E =4D4EF4NM<< E>45D64=<5< G7?5><E?>FO (7<?5D>4?=<G5E><= EF<<G?) < 

E=<64NM<<EO E>45D64=<5< ><E?>D>44 (7<?>>E<G5E><= EF<<G?) ?>76>?O5F 

?>EF5?5==> G?GGL4FL 65=F<?OF<N ?57><E 74 EG5F ?>6OL5=<O 6<7=5==>= 5<>>EF< 

?57><E (E G65?<G5=<5< >>?<G5EF64 DG=>F<>=<DGNM<E 4?L65>?, G>D5??5=<5< 

4OE4F5?L=>= <GE>G?4FGDO) < ?>6OL5=<O GD>6=O DG=>F<>=<D>64=<O 

>4D4<>64E>G?OD=>= E<EF5<O; <F>7>64O D57G?LF<DGNM4O 3 ?>6OL5=<5 6O=>E?<6>EF<, 

?D5645 6E57> 6 4MD>5=>= < ?5D5E>4=>= (4MD>5=>-4=4MD>5=>7> ?5D5E>44) 7>=4E. 

�><??5<5=F4D=>EFL G>474==>= <5F>4<>< ?>FD55=>EFO< E?>DF4 >55E?5G<645FEO 

F5< D4>F><, GF> E?54EF6<5< =4?DO65==OE D<7<G5E><E =47DG7>> O6?ONFEO 

7<?>>E<G5E><5 < 7<?5D>4?=<G5E><5 E>EF>O=<O >D74=<7<4. �5E4=<7<O >><?5=E4F<< 

G<5D5==OE D>D< 7<?>>E<<, 7<?5D>4?=<< <?< <E >><5<=4F<< 6 ?D4>F<G5E>< 74>D>6>< 

>D74=<7<5 <<5NF >?D545?5==>5 ?D<E?>E>5<F5?L=>5 7=4G5=<5 6 D>D<<D>64=<< 

444?F4F<>==OE D54>F<=, =4?D46?5==OE =4 ?>6OL5=<5 GEF>=G<6>EF< >D74=<7<4 > 

6>745=EF6<N >><??5>E4 M>EFD5<4?L=OE D4>F>D>6. � E6O7< E MF<< ?>O6?O5FEO 

6>7<>6=>EFL <E?>?L7>64=<O D47?<G=OE ED54EF6 6>745=EF6<O =5E?5F<D<G5E>>7> 

E4D4>F5D4, ?>76>?ONM<E ?>6OE<FL GD>65=L DG=>F<>=4?L=OE 6>7<>6=>EF5= 

>D74=<7<4 557 ?>6OL5=<O 65?<G<=O FD5=<D>6>G=OE =47DG7>>. � MF>< >>=F5>EF5 6E5 

5>?LL55 D4E?D>EFD4=5=<5 ?>?GG4NF FD5=<D>6>< E <E?>?L7>64=<5< 4OE4=<O 747>6O<< 

E<5EO<< E D47?<G=>= >>=F5=FD4F<5= ><E?>D>44 < G7?5><E?>7> 7474 (7<?>>E<G5E><<< 
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< 7<?5D>4?=<G5E><<<). � 44==OE <5F>4<G5E><E D5>><5=44F<OE ?>4D>5=> ?>>474=> 

?D<<5=5=<5 7<?5D>4?=<G5E>>= FD5=<D>6>< 6 >4G5EF65 ?D>D<?4>F<G5E>>7> ED54EF64, 

>>47O64NM57> >5M5>74>D>6<F5?L=>5 6>745=EF6<5 =4 >D74=<7< < <E?>?L7G5<>7> 6 

D545<?<F4F<< D45>F=<>>6, 74=OFOE 6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<, E>?DO65==>= 

E =55?47>?D<OF=O<< 4?O 74>D>6LO 6<44<< D45>F <?< M>>?>7<G5E><E D4>F>D>6. 

�7GG5=<5 6?<O=<O 4OE4=<O 7<?5D>4?=<G5E><<</7<?>>E<G5E><<< 747>6O<< 

E<5EO<< ?>>47O645F, GF> 6 D57G?LF4F5 444?F4F<< > GE?>6<O< 7<?>>E<< < 7<?5D>4?=<< 

?>6OL4NFEO DG=>F<>=4?L=O5 6>7<>6=>EF< >D74=>6 >D>6>>5D4M5=<O < 4OE4=<O, GF> 

?>76>?<F 6 5>?55 E64FO5 ED>>< 6>EEF4=46?<64FL DG=>F<>=4?L=O5 E?>E>5=>EF< 

E<EF5< 6<7=5>55E?5G5=<O G 67D>E?OE < N=OE E?>DFE<5=>6, ?5D5=5EL<E 6<DGE=O5 

?=56<>=<< D47?<G=>= MF<>?>7<<. �4==O= 6<4 =5<54<>4<5=F>7=>7> 6>745=EF6<O 6> 

6D5<O ?D>6545=<O 74>?NG<F5?L=>7> MF4?4 6>EEF4=>6<F5?L=>7> ?5G5=<O 6<DGE=OE 

?=56<>=<= O6?O5FEO ?5DE?5>F<6=O< < 6>EFD55>64==O< <5F>4>< 6>EEF4=>6?5=<O 

DG=>F<< 6=5L=57> 4OE4=<O, GF>, 6 E6>N >G5D54L, E?>E>5EF6G5F G65?<G5=<N F5<?>6 

6>EEF4=>6?5=<O E?>DF<6=>= D45>F>E?>E>5=>EF< ?>E?5 ?5D5=5E5==OE 6<DGE=OE 

?=56<>=<=. �D< MF>< =5>5E>4<<> GG<FO64FL, GF> 7<?5D>4?=<G5E><= < 7<?>>E<G5E><= 

EF<<G?O 6 >?D545?5==>< 4<4?47>=5 GE<?<64NF 4DG7 4DG74, >EGM5EF6?OO 6 F>< G<E?5 

FD5=<D>6>G 6O=>E?<6>EF< 4OE4F5?L=OE <OLF (RMET 3 respiratory muscle endurance 

training). &4>4O FD5=<D>6>4 7445=EF6G5F =5 F>?L>> <OLFO 64>E4, => < <OLFO 6O4>E4, 

GF> E6<45F5?LEF6G5F > 5>?55 D<7<>?>7<G5E>>< E?>E>55 G?GGL<FL DG=>F<N 

4OE4F5?L=OE <OLF. RMET ?>6OL45F 6O=>E?<6>EFL 4OE4F5?L=OE <OLF. 

&4><< >5D47><, <5F>4 E>G5F4==>7> ?D<<5=5=<O 

7<?5D>4?=<G5E><E/7<?>>E<G5E><E EF<<G?>6 O6?O5FEO 4>FG4?L=O< < ?5DE?5>F<6=O< 6 

D545<?<F4F<< E?>DFE<5=>6 E?>DF<6=OE E5>D=OE >><4=4 $>EE<=E>>= $545D4F<<, 6 

F>< G<E?5 =5E>65DL5==>?5F=<E, ?5D5=5EL<E 6<DGE=O5 ?=56<>=<< D47?<G=>= 

?D<D>4O.  
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